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IDENTIFICATION
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2; 1. ABSTRACT

- 7

&3 THE_DHI1 LECTION LOGIC TEST VERIFIES

3 Toir T 35EE8 SELECHION PUCTIo

S OF THE LINE P R REGISTER OPERATE PRQPERLY
= F9R EACH TRANSMITTER AND RECEIVER LINE. TRANSMITTER
£* TINING 15 CHECKED FIRST, AN THEN RECEIVER TINING 15
= TeSTED. PROGRAM USES A RELATIVE TIMING COMPARISION
53 , 16°DETERMINE IF CINE SPEED SECECTION I8 CORRECT.

3 NOTE: EXTERNAL CLOCK FUNCTIONS (SPEED CODES iE AND 17)
£ - NOT TESTED.

-1
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REQUIREMENTS
EQUIPMENT
POP-11 FRAMILY STANDARD COMPUTER WITH 4KW OF MEMORY
ASR-33 TELETYPE OR EQUIVALENT
-OH11 ASYNCHRONOUS MULTIPLEXER
‘OM11 MAINTENANCE CARD INSTALLED
" STORARGE
THE PROGRAM LOADS INTO 4KW OF MEMORY
LORDING PROCEDURE

THE _STANDART PROCEDURE FOR LCADING ABSOLUTE BINARY TAPES
IS TO BE USED

STARTING PROCEDURE
CONTROL SWITCH SETTINGS

I AFTER PROGRAM LOAD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN

.2 TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES

AFTER PROGRAM RESTART
SW00=1 I
3 TO START PROGRAM AT SELECTED TEST AFTER PROGRAM RESTART
SW01=1
STARTING RDDRESS.
THE STARTING ADDRESS FOR ALL TESTS IS 0C0200
THE RESTART ADDRESS FOR ALL TESTS I 00020C0
THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
PROGRAM AND/OR OPERATOR ACTION
INITIAL PRCGRAM START

LORD PROGRAM INTQO MEMORY
OAD_ADDRESS 000200

l

1.1

1.2L

.1.3 CLERR CONSOLE SWITCHES
i ; PRESS STA

THE PROGRRH WILL TYPE "DH1l SPEED SELECTION LOGIC TEST™
AND WILL THEN TYPE “VECTOR ADDRESS-" AND WRIT FOR AN
INPUT FROM THE TELETYFE KEYBORROD.
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4.3 (CONT'D)

4.3.1.6 TYPE_IN THE R?DREES QF THE RECEIVER INTERRUPT VECTOR
FOR THE DH1l TESTED FOLLOWED BY <CARRIARGE RETURN>

NOTE: WORDS IN ANGLE BRACKETS, I.E. <CARRIAGE RETURN> MEAN THAT
THE TELETYPE KEY WITH THE NAMED FUNCTION SHOULD BE STRJCK

IF AN IN onnscr nooness m D, THE PROGRAM

WILL TYP EAT SECOND MESSAGE OF 4.3.1.5
4.3.1.7 T% PROGRAM uxu. T "conm .é nscﬁ v%e DRESS-"

AND WAIT FOR AN INPUT FROM THE TEL KEYBOARD

4.3.1.8 TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER OF THE
DH11 TC BE TESTED FCLLOWED BY <CARRIRGE RETURN>

IF AN mconnccv ADDRESS IS TYPED, THE Pnocnnn uxu. TYPE
“ AND WILL THEN REPEAT THE MESSAGE OF 4.3.1.7
4.3.1.9 ms PROGRAM uu. TYPE “R" 10 INDICRTE rmr iT°1s
ABOUT TO START TESTING, AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

1 PERFORM 4.3.1.2 T0 4.3.1.5

¢ THE PROGRAM WILL TYPE "DHl1l1 SPEED SELECTION LOGIC TEST"
AND WILL THEN CONTINUE RS DESCRIBED IN 4.23.1.9

PROGRAM RESTART WITH SWO0O=1

4.3.2
el 8-
%.3.8.

PROGRAM RESTART WITH SWO1=1

.1 LORD ﬂDORESS 000200

.2 SET SW0l=

.3 PRESS STAR

.4 THE PROGRRH WILL TYPE "DH1l SPEED SELECTION LOGIC TEST™
AND WILL THEN TYPE "TEST PC-* AND WILL WARIT FOR AN INPUT
FROM THE_TELETYPE KEYBOARD

4.3.4.5 TYPE_IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY <CRARRIAGE RETURN)

4.3.4.6 THE PROGRAM WILL TYPE R TO_INDICATE THAT IT HRS STARTED

AND WILL START TESTING AT THE SELECTED TEST.

NOTE: CARE MUST BE TRKEN WHEN THS FERTURE IS USED, SINCE
THERE IS NO PROTECTION AGAINST SELECTING AN'ADDRESS THAT
IS IN THE MIDDLE OF R TEST

NOTE: IF_IT IS DESIRED TO LOOP ON THE TEST THAT IS SELECTED
SET SWi4=1 BEFORE ENTERING THE TEST RDDRESS

-C-B-C-l: £ -C-C-l;-l: £
UU(JU w U(AJU(J W
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OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS

SW1S=1,

Bl G L,

ﬁllfi’ NHIB ERQ;I?NS |
§u38§1: FﬁEe;E V2RNEBLE Egnnnerfn ?5 cunnsnr TEST
SWoi=1, S PROGRAM AT SELECTED TEST

SW00=1. CHANGE PARAMETERS AT PROGRAM RESTART

SUBROUTINE ABSTRACTS
TRAPCATCHER (LOCATIONS 000000-000776)
THIS_ROUTINE IS USED TO INTERCEPT UNEXPECTED INTERRUPTS

AND TRAPS. THE ARER FROM 000000-000776 IS LOARDED
WITH THE FOLLOWING SEQUENCE

~
ne

D:.IO\J' OL£0Mn
o

IF AN UNEXPECTED INTERRUPT OR TRAP OCCURS, THE PROGRAM
WILL HALT WITH THE PC 2 GREATER THAN THE ADDRESS TO
WHICH THE PROGRAM TRAPPED. THE PROCESSOR smcx MAY

BE EXAMINED TO DETERMINE WHERE THE PROGRAM WAS WHEN THE
TRAP OR INTERRUPT OCCURED.

START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS AND COUNTERS,
TYPES THE PROGRAM 55755055 gnsz AND INPUTS THE VECTOR
AND CONTROL REGIST SSES OF THE DHM11 TO BE TESTED.

BEGIN  (PROGRAM START AND RESTART)

THIS ROUTINE IS ENTERED IMMEDIATLY AFTER “START"

AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.

THE ROUTINE SETS UP THE PROCESSOR STACK nno STATUS WORD
AND THEN TRANSFERS CONTROL TO THE TEST AT WMICH

TESTING WILL BEGIN. IF SWO1=0 WHEN THIS nourxne xs ENTERD
TESTING WILL START AT T1 (TEST 1). IF SWOl=l

THIS ROUTINE IS ENTERED, TESTING WILL START nr THE PC
ENTERED FROM THE TELETYPE KEYBOARD.
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53
232
233

S.2.4

5.2.§

s.2.6

- IDENTIFICATION C

EOP (END OF PRSS)

THI Rggnng mgs ;msnsg ?ncs P;R Pﬂ§s AFTER ALL TESTS
HAVE BEEN COMPLETED. THIS ROUTINE TYPES THE MAINDEC

ODE OF THE PROGRAM, CLEARS ERROR FLAGS
ek BT ool L RO o R0
ng ACTI1 6& oogoﬁmr R. xé"?ufnssocmn IS NOT UNDER
MONITOR CONTROL, THE ROUTINE TRANSFERS TO BEGIN.
SCOPER (SCOPE LOOP AND ITERATION HANDLER)

THIS ROUTINE IS ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

A) IF SW10=1, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
IN SEQUENCE, AFTER CLEARING ERROR FLAGS.

8) IF SWll=l, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, 'AFTER CLEARING ERROR FLAGS.

¢) IF SWi4=l, THE ROUTINE WILL LOOP ON THE CURRENT TEST
REGRRDLESS OF THE ITERATION COUNT.

IF NONE OF THE ABOVE IS TRUE, THE ROUTINE WILL ADD !
TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
T0 THE NUMBER OF ITERATIONS THA! SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, THE ROUTINE WILL TRANSFER
TO THE NEXT TEST IN SEQUENCE. THE THE NUMBERS ARE NOT
EQUAL, THE TEST CURRENTLY IN PROGRESS WILL BE REPEATED.

SCOPIR (FREEZE ON CURRENT DATR)

THE CALL TO THIS ROUTINE FOLLOWS IMMEDIATLY AFTER THE
THE CALL TO THE ERROR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PARAMETERS. THIS ROUTINE IS ALWAYS ENTERED IN
THOSE TESTS, WHETHER OR NOT AN ERROR OCCURS.

IF SW09=1, THE ROUTINE WILL TRANSFER CONTROL BRCK TO THE
TEST AT A POINT WHICH WILL ALLOW REPEATING THE FUNCTION
UNDER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
OPTION IS SELECTED, THE ROUTINE “SCOPER™ IS NEVER ENTERED
AND ITERATION COUNYS WILL NOT BE LPDATED.




ODZDHD MRCYLl 27(732)
DZDHDC.PFC

HO1

10-MAY-76 10:4% PAGE 8

5.2.7

s.2.8

ERRORS (ERROR HANDLER)
THIS ROUTINE IS ENTERED UPON ERROR DETECTION ONLY.

HV’T‘HE“LIsc"S:"S?tE TRCTRIETIGN Tha CalLED e EAROR ANDLER

IS nc m: STACK HEN me EMT INSTRUCTION
T T , L or EMT

usso T0 ACCESS A man.e OF ERROR MESSAGES AND ERROR
DATA STORAGE LOCATIONS.

B) IF THE TEST n-m FRILED DID NOT FAIL vxousu
DURING THIS PASS, A COMPLETE ERROR REPORT IS MADE
IF THE TEST THAT FAILED FAILED MOR THAT ONCE DURING
THE CURRENT Pns ONLY TI-E DATA RELATING TO THE FAILUER
IS TYPED. IF SWl3=] en OR TYPEOUT IS MADE.

C) THE ROUTINE Nou CHEC k OR HALT ON ERROR. IF SW15S=1
THE PROGRAM WILL HALT unu THE PC OF THE CALL TO
THE ERROR ROUTINE IN RO. IF SW15=0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.

D) IF SW10=0 THE ROUTINE WILL RETURN
T0 THE TEST IN PROGRESS. IF SWi0=1, THE ROUTINE WILL
ABORT THE cunasm TEST, AND TRANSFER TO THE NEXT
TEST IN SEQUENCE, THRU’THE ROUTINE ~scopr.n~

TRPSRV (TRAP DECODE AND DISPATCH)

THIS ROUTINE DECODES THE 8 LSB OF THE TRAP INSTRUCTION

THAT CAUSED TH PROGRAM INTERRUPT TRANSFERS CONTROL
TO THE ROUTINE THRU THE TABLE "TﬁPTRB" USING THE 8 LSB

OF THE TRAP INSTRUCTION RS AN OFFSET TO THE POINTER TO
THE ROUTINE TO BE ENTERED.
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8.3 PROGRAM AND OR OPERATOR RCTION

§.3.1 PROGRAM START WITH ALL SWITCHES DOWN

§.3.1.1 SEEER TQ SECTIONS 4.3.1 AND 4.3.2 FOR INITIAL PROGRAM
VIOR.

oé &rgﬁn4zbns (SEE L?STI rgﬁ EXQET nunsegEFSE Egcn TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

5.3.1.3 WHEN ALL ITERATIONS HWAVE BEEN COMPLETED, THE PROGRAM
WILL TYPE “DZDHD™ AND THEN RESTART TESTING AT TEST 1
(LOCATION T1 IN THE PROGRAM).

S.3.1.4 IF AN ERROR OCCURS, THE PROGRAM WILL TYPE AN APPROPRIATE
ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.

§.3.¢ PROGRAM START WITH SWOO=1

THE PROGRAM WILL PERFORM RS DESCRIBED IN 4.3.1 AND 5.3.1
S.3.3 = PROGRAM START WITH SWO1=1
§.3.3.1 REFER TO SECTION 4.3.4 FOR INITIAL PROGRAM BEHAVIOR

S.3.3.2 TEST EXECUTION WILL START AT THE ADDRESS SPECIFIED
AND WILL CONTINUE AS DESCRIBED IN 5.3.1.2

5.3.3.3 AFTER "DZDHD™ MRS BEEN TYPED, THE PROGRAM WILL
~ RESUME TESTING AT TEST 1

5.3.4 PROGRAM OPERATION WITH SW1S=1
SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR,
THE PROGRAM WILL HALT AFTER THE ERROR TYPEOUT, AND
THE PC+2 OF THE CALL TO THE ERROR ROUTINE WIL( BE
DISPLAYED IN RO.
5.3.5 PROGRAM OPERATION WITH SW13=l
SAME AS 5.3.1 EXCEPT THAT NO ERROR TYPEOUTS WILL OCCUR
5.3.6 PROGRAM OPERATION WITH SWil=1

82E$ AS 5.3.1 EXCEPT THAT EACH TEST WILL BE REPERTED ONCE

5.3.7 PROGRAM OPERATION WITH SW10=1

SAME RS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR
THE CURRENT TEST WILL BE RBORTED, AND THE PROGRAM
WILL PROCEED TO THE NEXT TEST IN'SEQUENCE.
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€.3.8

b.1.1

6.2
6.2.1

b.2.2

6.2.3

(CONT’D)
PROGRAM OPERATION WITH SWi4=1, OR SW09=1

THESE _FUNCTIONS ARE NORMALLY USED FOR TROUBLE SHOOTING.
SEE SECTION 6.3 FOR THEIR USE.

ERRORS
ERROR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEOUTS
IS AS FOLLOWS

PC+2  MESSAGE
HEADER (IF_APPLICABLE)
DATA  (IF APPLICABLE)

WHERE

PC+2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSAGE IS AN ASCII MESSAGE DESCRIBING (BRIEFLY) THE FARILURE
HERDER IS A DESCRIPTION OF THE DATR_TO_FOLLOW

DATA IS OCTAL INFORMATION RELATING TO THE CAUSE OF THE FARILURE
IF THE SAME ERROR OCCURS IN R GIVEN TEST ON THE SAME

PRSS, AND IF DATA IS ASSOCIATED WITH THAT ERROR, ONLY

DATA IS TYPE ON SUCCEEDING ERROR TYPEOUTS

IF NO DATA_IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETAILS OF ERRORS
ERROR RECOVERY

SW15=0

IF THE PROGRAM IS RUN WITH SW1S=C, NO OPERATOT ACTION IS
gﬁ?g!?ED TO CONTINUE TESTING

IF_THE_PROGRAM IS RUN WITH SW1S=1, TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED, PRESS THE PROCESSOR
CONSOLE CONTINUE SWITCH

ILLEGAL INTERRUPTS

IF AN_INTERRUPT OCCURS TO A_VECTOR ADDRESS NOT _
SELECTED DURING PROGRAM INITIALIZATION, THE PROGRAM WILL
HALT IN THE TRAPCATCHER. THE ADDRESS At WHICH

THE PROGRAM HALTS IS 2 GREATER THAN THE ADDRESS

TO WHICH THE INTERRUPT OCCURED. THE PROGRAM MUST BE
RESTARTED AT 200 TO RECOVER FROM THIS ERROR.
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6.3
6.3.1

6.3.2

£.3.3

SCOPE LOOPING

10_SCOP PECIF T, SET Wl3=
FRrECTEL RalsE THE PROGRAN’ TO-CORTINUOLGLY OGP oM THE .
SAME 'EST AND WILL CAUSE ALL ERROR TYPEOUTS TO BE INMIBITED
T0_SCOPE ON A SPECIFIC VALUE OF A PARAMETER WITHIN

A TEST, SET SWO9=I TO FREEZE THE DATA

(SEE LYSTING FOR THOSE TESTS THAT INCORPORATE THIS FEATURE)
(CONT’D)

PROGRAM START TO SCOPE LOOP ON SELECTED TEST

PERFORM SECTION 4.3.4 WITH SW14=1

RESTRICTIONS

STARTING

THE DH11 TEST CARD MUST BE INSTALLED

RUNNING '

NONE

MISCELLANEOUS

EXECUTION TIME

THE TIME FOR_ONE PASS OF THE PROGRAM (END OF

TYPEQUT OF DZDHMD TO END OF TYPEOUT OF DZDHD)

IS GIVEN FOR VARIOUS PROCESSORS IN THE TABLE BELOW

' TIME
PROCESSOR

POP-11/0S, 10
POP-11/20
PDP-11/40
POP-11/45
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456
457
458
459
460
461
462
463
464

42

467
468
469

471
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10.

PROGRAM DESCRIPTION

TRANSMITTER LINE SPEED SELECTION IS TESTED ON A LINE BY
1#"GPEED SELECTION FOR A SELECTED LINE 18 CORRECT: =
THE TEST PROCEEDS AS FOLLOWS:

PEE IS SET FOR A SELECTED LINE, A
Eoun? % §2c8nBEo ?REE uE"nné rEaT e Baa 81T 1s

OR THAT LINE ME THAT TRANSMITTER DONE IS SET.
THREE cunnncrzns nne rnnnsnxrrso AT THE SAME
TIME, A TIMEOUT COUNTER IS STARTED. IF THE TIMEOUT
COUNYER DECREMENTS TO O BEFORE TRANSMITTER DONE 1S
RECEIVED, AN ERROR MESSAGE IS REPORTED. IF TH; TIMEOUT
DOES NOT OCCUR, THE TIME COUNT IS STORED, AND THE
NEXT LINE SPEED IS SELECTED rnnusnxssxbn IS RESTARTED
+ NTTRRNSHITT R obns IS O?T BrRE RE T HE580UNTS
“& 5 Rgs-f F&Ev ED ARE

nns COUNT FOR nc cunnem SPEED IS

caemsn mnn on EQUAL TO THE COUNT FOR THE PREVIOUS
SPEED, A TIMING ERROR HAS OCCURED sxncs A HIGHER
SELECIED BAUD RATE SHOULD MEAN THAT THE NUMBER
OF COUNTS RECORDED IS LESS THAN AT n oue
EQBESR?TES THIS PROCEDURE IS REPERTED FOR ALL SPEED

THE NEXT GROUP OF TESTS VERIFIES THAT RECEIVER
SPEED SELECTION IS CORRECT, BY USING A RELATIVE TIMING
COMPARISION AS DESCRIBED ABOVE. A CHARACTER IS TRANSMITTED
AS ABOVE AND THE TIME FROM THE START OF TRANSMISSION

TO THE TIME THAT CHARACTER AVAILABLE IS RECEIVED

IS Rscoaoso ALSO, THE TIMEOUT COUNT IS DECREMENTED.

IF THE TIMEOUT gouﬁrs 5cn£nenrs roEg BEFORE CHARACTER
AVAIL OCCUR

THE PROCEDURE 1S REPEATED AT THE NEXT HIGHEST BAUD RATE
AND A COMPARISION IS MADE AS IN THE TRANSMITTER TESTS

IF THE TIME COUNT AT THE PRESENT BAUD RATE IS GREATER THAN
OR EQUAL TO THE PREVIOUS BAUD RATE, AN ERROR HAS OCCURED.

LISTING

;OH11 SPEED SELECTION LOGIC TEST
s COPYRIGHT 1376, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

; STARTING PROCEDURE

:LOAD PROGRAM

: LOAD RDDRESS 000200

:PRESS START

:PROGRAM WILL TYPE DH1l SPEED SELECTION LOGIC TEST
sPROGRAM WILL TYPE "VECTOR ADDRESS-"

sTYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR
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00C002
000001
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MOl

;FOR THE DH1l TO BE TESTED, FOLLOWED BY (CRRRIQGE RETURN>
:PROGRAM WILL TYPE "CONTROL REGISTER ADDR

TIEE i DF s 0 D SO R,

:PROGRAM WILL TYPE "R* 10 INDICATE THAT TESTING HAS STARTED
‘AT THE END OF A PASS, PROGRAM WILL TYPE * DZDHD "
:AND THEN RESUM TESTING

;SWITCH REGISTER OPTIONS

SW15=1000
SW14=4000
SW13=2000
SW12=1000
SW11=4000
SW10=2000
SW09=1000
SWO8=400
SW0e=100
SWOS=40
SWO4=20
SH03-10
Sko2=4
SWo1=2
SWO0=1

ON ERROR
ON CURRENT TEST
IT ERROR TYPEOUT

00 =1,
0 H ¥
0 !=!
0

. INHIBIT_ITERATIONS
.ESCAPE TO NEXT TEST ON ERROR
,LOOP WITH CURRENT DRTR

; RESTART_PROGRAM AT SELECTED TEST
sRESELECT VECTOR AND CONTROL REGISTER
:ADDRESS AFTER PROGRAM RESTART
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000000
000001

200007

177570

014734.

DOS74E
005726
010046
012600
024646
02282k

100000

000001
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NOL.

;REGISTER DEFINITIONS

RO=%0 ; GENERAL REGISTER
51-/1 GENEEgt EEGISTER
R NERAC REGIBTER
GENERRL REGISTER
RS /5 s GENERAL REGISTER
SP=%6 : PROCESSOR STACK POINTER
PC=x7 : PROGRAM COUNTER

;LOCATION EQUIVALENCIES

SWR=177570 ; CONSOLE SWITCH REGISTER
LIGHTS=177570  ;PDP-11/45 DISPLAY REGISTER
PS=177776 : PROCESSOR STATUS WORD

STACK=ENDCOD+200; STRRT OF PROCESSOR STACK
; INSTRUCTION DEFINITIONS

PUSH1SP=5746
POP1SP=5726
PUSHRO=10046
POPRO=12600
PUSH2SP=24646
POP2SP=22626

; DECREMENT PROCESSOR STACK 1 WORD
: INCREMENT PROCESSOR STACK 1 WORD
:SAVE RO ON STACK

sRESTORE RO FROM STACK

;DECREMENT STRCK TWICE

s INCREMENT STACK TWICE

.EQUIV EMT,HLT ;BASIC DEFINITION OF ERROR CALL

15=100000
14=40000
%3=20000

08=400
7=200
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: [RAPCATCRER FOR ILLEGRL INTERRUFTS

.+
HALT

{UNEXPECTED TRAP T0 THIS LOCATION
s EXAMINE STACK TO_FIND CAUSE
s UNEXPECTED TRAP TQ THIS LOCRTION
:EYAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP TO THIS LOCATION
s EXAMINE STQCI( TO_FIND CAUSE
UPEXPE ED TRAP TO THIS LOCATION
 EXAMINE ETQCK T0_F CAUSE
UKXPECT D TRRP TO THIS LOCATICN
;EXAMINE STACK TO FIND CAUSE

;€ FIND CRUSE-
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STRCK TO FIND CAUSE

3 JIEXPECTED TRAP TO THIS LCCATION

3 Xﬂg&% ET K TO_FIND CAUSE
s UNE TED TRAP TO THIS LOCATION

s EXAMINE STRCK TO_FIND CRUSE
sUNEXPECTED TRAP TQ THIS LOCATION
: T F1 RUSE

;EXAMINE STRCK TO FIND C
;UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND C
,’JI‘EXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND €
;UNEXPECTED TRAP TO THIS LOCATICN
.EXRHIPE STACK TO

FIND CRUSE
UI‘EXPE Tg? TRAP TO THIS LOCATION
ACK TO F CRUSE
'JbEXPECTED R‘P TO THIS LOCATICN
EXRH NE ETQCK CRUSE

CTED TRAP TO THIS LOCATION
EXRHII‘E STARCK TO FIND CRUSE
UPEXPECTED TRAP TO THIS LOCRTION
:EXAMINE STACK TO FIND CAUSE
;UPEXPECTED TRAP TO THIS LOCATION
;EXAMINE STRCK TO FIND CRUSE
: UNEXPECTED TRAP TQ THIS LOCATICN
:EXAMINE STACK TO FIND CAUSE
UPEXPECTED TRRP TO THIS LgCEﬂTION

s O_FIND CARU

Ufix ECTED TRRP T THIS LOCRTION

;EVAMINE STACK TO FIND CAUSE

UPEXPECTED TRAP TO THIS LOCATION

;EXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP TO THIS LOCATION

sEXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP TO THIS LOCRTION

:EXAMINE STACK TO FIND CAUSE

,UI‘EXPECTE? TRAP TO THIS LOCATION
A FIND CRUSE
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642 000ISY Q001G #2 ;UIEXPECTED. TRAP 10, THIS LOCATION
B BoSies -y xng;&:Tsm%;oT "#u A AT 1o
LW &
Bid SRBIEY B324%6 HALT %ﬂ R E0alk 70 PIND RAUSE"
o O00I6Y 000ise 43 NEXPEETED TRAP ro e acaT o
47 000166 0 HALT 'EXAMINE STACK TO FIND CAUSE
548 900170 200022 43 ! UNEXPECT D TRap 1O THIS LOCATION
E49 000172 0O0OCO HALT 'EXAMINE STACK TO FIND CAUSE
€50 000174 000176 42 iUNEXPECTED. TRRP TO. THIS LOCATION
651 000176 0000C] HALT EXAMINE STACK 1O FIND CAU
€32 000200 0002C2 42 ! UNEXPECTED SRap T0 RIS LOCATION
£33 000202 000003 ~ HALT 'EXAMINE STACK T0 FIND CAUSE
4 000204 000205 43 UNEXPECTED TRAP 1O THIS LOCATION
€55 000206 000000 HALT 'EXAMINE STACK TO FIND CAUSE
656 000210 000212 48 ' UNEXPECTED TRAP TQ THIS LOCATION
€37 000212 00000 HALT 'EXAMINE STACK TO FIND GAUSE
658 000214 0002.E 48 ' UNEXPECTED TRAP TO THIS LOCATION
653 000216 000000 HALT 'EXAMINE STACK T0 FIND CAUSE
000220 000228 .48 ! UNEXPECTED TRAP TO THIS LOCATION
661 0002s2 (00000 HALT 'EXAMINE STACK TO FIND CAUSE
662 00024 000226 42 UNEXPECTED TRAP T THIS LOCATION
B63 00026 000000 HALT 'EXAMINE STACK TO FIND CRUSE
664 000230 000232 + ' UNEXPECTED TRAP TO THIS LOGATION
65 0Q0CP32 000000 HALT 'EXAMINE STACK T0 FIND CAUSE
B56 000234 000236 .42 UNEXPECTED TRAP TO THIE LOGATION
BE7 000236 (£J0000 HALT 'EXAMINE STACK TO FIND CAUSE
£68 00040 0D02Y2 +8  UNEXPECTED TRap T THTS LOCATION
563 DOOc42 000000 HALT Exnmng STRCK 10 CAUSE
670 000244 000246 Y- UNEXPECTED TRAP T0 D & %At 1on
671 0O0e46 000000 HALT EXAMINE STACK TC FIND CAUSE
672 000250 000252 43 urcxpscn:o TRP 10 THIS LOCATION
673 000252 000000 HALT ~ 'EXAMINE STACK TO FIND CAUSE
74 000254 000256 S ' UNEXPECTED TRAP TQ. THIS LOCATION
675 000256 000000 HALT 'EXAMINE 3TACK TO FIND CAUSE
676 000260 000262 e T e ' UNEXPECTED TRAP TQ THIS LOCATION
677 000262 000000  FRLT 'EXAMINE STACK 70 FIND CAUSE
£78 0002E4 000266 . 43  UNEXPECTED TRAP TO g THIS LOCATION
£78 000266 00OOOC HALT 'EXAMINE STACK TO FIND CAUSE
880 000270 000272 - Y untxpscreo TRAP 10, THIS LOCATION
681 000s72 000000 : HALT  EXAM N STRCK T0 FIND CAUSE
682 000e74 00027 43 18D TRAP TO  THIS LOCATION
663 00CZ7e  D0000D LT | EXAMINE sm%g;orsl% e
» 4
B8 000308 000305 GecT REXELTED. TRRP 7O, THIZ 4ok
686 000304 000306 42  UNEXPECTED SRAP_TO. THIS LOCATION
667 000306 000000 HALT Exnnxri STACK TO FIND CAUSE
688 000310 000312 .48 Erc CTED. TRRP 1O THIS LOCATION
£89 000312 000000 HALT XAMINE STACK TO FIND CAUSE
£90 000314 000216 ~ S ! INEXPECTED SRAP TQ THIS LOCATION
€31 000316 000000 HALT 'EXAMINE STACK TO FIND CAUSE
632 000320 000322 40 ' UNEXPECTED TRAP TO THIS LOCATION
£33 000322 000000 HALT 'EXAMINE STACK TO FIND CAUSE
£94 000324 000226 42 ' UNEXPECTED TRAP TQ THIS LOCATION
£95 730326 000000 HALT 'EXAMINE STACK TO FIND CRUSE
69 000330 000332 48 ' UNEXPECTED TRAP TO THIS LOCATION

€97 000332 000000 HALT tEXAMINE STACK TO FIND CAUSE
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698 000334 00033 42 ;UNEXPECTED TRAP TO_ THIS LOCATION

93 00033 000000 HALT 'EXAMINE_STACK T0_FIND CAUSE

T00 000340 00034 -+ E XPECTED TRAP 1O THIS LOCATION

201 3 080000 HALT XAMINE STACK TO

, 394 000346 . .43 } UNEXPECTED TRAP 10 mxs LOCATION

703 000346 HALT (EXAMINE_STACK 10

704 000350 008 43 : GNEXPECTED TRAPTO. THIS LOCATION

705 000352 HALT IEXAMINE STACK T0

706 000354 (00035H 43 UNEXPECTED TRAP TO. THIS LOCATION

707 000356 000000 HALT iEXGMINE STACK TO FIND CAUSE .

708 000360 000362 43 ;UNEXPECTED map o', THIS LOCATION

703 000362 200000 HALT XGMINE STACK AUSE

710 00034 000366 5 IDNEXPECTED TRAP. TO mxs LOCATION

711 000366 0000G0 | HALT IEXAMINE STACK TO_FIND CAUSE

712 000370 00037 43 }UNEXPECTED TRAP TQ THIS LOCATION

713 000372 000000 - HALT 'EXAMINE STACK TO_FIND CRUSE

714 00374 000376 , 43 ;UNEXPECTED. TRAP 1O, THIS LOCATION

71S 003376 00000Q HALT IEXAMINE STACK TO_FIND CAUSE

716 00Q4O0 000Y02 43 UNEXPECTED. TRAP TO THIS LOCATION

717 000402 0Q0000 HALT 'EXAMINE STACK TO_FIND CAUSE

718 000404 000408 43 ;UNEXPECTED TRAP TO THIS LOCATION

713 00Q40e 0000OQ HALT }EXAMINE_STACK TO_FIND CAUSE

720 000410 000412 43 }UNEXPECTED TRAP TO THIS LOCATION

721 00012 000OCG HALT IEXAMINE_STACK TO_FIND CAUSE

722 00044 0OOMIE 43 UNEXPECTED TRAP TO THIS LOCATION

723 000416 00000 HALT IEXAMINE STACK TO_FIND CAUSE
000420 000422 43 UNEXPECTED TRAP 10, THIS LOCATION

725 000422 000000 HALT }EXAMINE_STACK TO_FIND CAUSE

726 000424 000426 43 UNEXPECTED TRAP Q. THIS LOCATIoN

727 000426 0000GO HALT 'EXAMINE STACK T0_FIND CAUSE

728 000430 0Q0432 43 UNEXPECTED. TRAP TO THIS LOCATION

723 000432 000000 HALT 'EXAMINE STACK TO_FIND CAUSE

730 000434 000436 43 UNEXPECTED_ TRAP TO THIS LOCATION

731 00043 000000 HALT iEXGMINE STACK TO FIND CAUSE

732 000440 000442 43 ! UNEXPECTED TRAP TO THIS LOCATION

733 000442 000000 HALT TEXAMINE STACK T0_FIND CRUSE

734 000444 0OO4Y6 43 tUNEXPECTED TRAP TO THIS LOCATION

735 000446 000000 HALT 'EXAMINE STACK T0 FIND CAUSE

736 000450 0O0YS2 43 UNEXPECTED TRAP 0 THIS LOCATION

737 000452 (0G00QG HALT 'EXAMINE STACK TO_FIND CAUSE

738 00Q4S4 0O0YSS 43 :UNEXPECTED TRAP TQ THIS LOCATION

739 000456 0Q000Q - HALT 'EXAMINE _STACK T0_FIND CAUSE

740 000460 000462 . 43 UNEXPECTED TRAP 1O THIS LOCATION

741 000462 000000 | HALT EXAHINE STACK T0 AUSE

742 00O4EY 000486 .+ © jUNEXPECTED TRAP ro THIS LOGATION

743 0004E WALT . iEXAMINE STACK 10_FIND CAUSE

744 000470 0OQ472 43 - UNEXPECTED TRAP TO THIS LOCATION

745 000472 (000000 HALT 'EXAMINE STACK TO FIND CAUSE

746 000479 000476 43 t UNEXPECTED TRAP TQ_ THIS LOGATION

747 000476 000003 HALT }EXAMINE_STACK T0_FIND CAUSE

748 000500 (0Q0SO2 43 }UNEXPECTED TRAP TQ THIS LOCRTION

743 000502 (000000 HALT 'EXAMINE STACK TO FIND CAUSE

750 000SQ4 0OOSOE 42 jUNEXPECTED. TRRP TO THIS LOCATION

781 000506 000000 HALT 'EXAMINE STACK TO_FIND CAUSE

752 000510 000slie +2 t UNEXPECTED TRAP TO THIS LOCRTION
783 000Sl2 000000. - HALT {EXAMINE STACK TO FIND CAUSE
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HALT

E02

UPEXPECTED TRAP TO THIS LOERTION

NE_STACK TO_FIND CAUS
EQE# NETE?QEQ“ﬁo’P NG CADSE
TRAP TO THI§ LO%RTION

EXQQ&'% g n%@ T0 "l"l'ill “Ug ATION

s EXAMINE E ACK TO_FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCRTION
EXRHINE ETRCK TO_FIND C

FIND CAUSE
UI‘EXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO_FIND CAUSE
,UPEXPEC TRAP TO THIS LOCATION
FIND CAUSE

U!'EXPECTED TRFP TO_THIS LOCATION
;EXAMINE STACK TO FIND CRUSE
s UNEXPECTED TW T0 THIS LOCATION

EXQ%EF% 2 MOTO THIS | .SERTION
sEXAMINE STACK TO FIND CARUSE

EPEXPFE ggmmnp T? THIE LgEﬂTION
UIEXPE

FIND CAUSE
UPEXPECTED TRAP TQ THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
EXR%EI% TACK TO_FIND CAUSE
s UNE TRAP TQ THIS LOCATION
sEXAMINE STACK TO FIND CARUSE

TRAP TQ THI LOCRTION
UPEXPEE gg“%ﬂm Tg THI§ LOCATION

sEXAMINE STACK TO FIND CAUSE
UI'EXPECTEQ TRﬂ’ TO_THIS LOCATION
; EXAM 0_FIND CARUSE
s UNEXPECTED TRFP TO THIS LOCATION
sEXAMINE STACK TO_FIND CAUSE
s UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO_FIND CAUSE
s UNEXPECTE TRRP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE

sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
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000676
5
i

000716
000000
0007c2
000000
000726
JUUUULU
000732
0000300
000736
000000
000742
000000
000746
000000
000752
C003CO
000756
000762
000000
000766
000000
000772
000000
000776
000000
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FO2

; UNEXPECTED TRQP TO THIS LOCRTION
sEXAMINE STACK TO F
Eﬁ?«"’ FE’??nE““’r’o'? T g

Rm TO THIS LOCATION
UfEX;'%TED TRN’ TO THIgmggﬂTION

U?CXPE ED TRA" TO THIS LOCRTION
EXRHIFE STACK TO_FIND CAUSE

EXRHIPE S ACK TO_FIND CAUSE

s UNEXPECTED TRAP T0 THIS LOCATION
sEXAMINE STACK TO_FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP TQ THIS LOCATION
sEXAMINE STACK TO_FIND CAUSE
UPEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO

' FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
FIND CARUSE

EXRHIBE STRCK T0

 UNE TO THIS LOCATION
EXQHIPE TRCK TO_FIND CARUSE
sUNEXPECTED TRAP TO THIS LOCATICON
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CRUSE
:UNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CRUSE
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858
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864
8eS
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879
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000024
013732

3
01276
00034
000200
200167
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000s74

=M

.=200

GO2

; STANDARD INTERRUPT VECTORS

PFRIL ; POWER FAI HGNDLER

Rfors {ERROA arLER - ©

340 SERVICE RT LEVEL 7

TRPSRV - GE ﬂ% ER DISPATCH SERVICE
340 ; SERVIC LEVEL

JHP START ;GO TO START OF PROGRAM

;DEFINITIONS FOR TRAP SUBROUTINE CALLS
:POINTERS TO SUBROUTINES CAN BE FOUND STARTING
:AT LOCATION *TRPTAB"

SCOPE=TRAP+Y ; SCOPE LOOP AND ITERATION HANDLER
TYPE=TRAP+Y 1% :TELETYPE OUTPUT ROUTINE

OCTASC=TRAP+Y - :0CTAL TO ASCII CONVERSION
INSTR=TRAP+Y : INPUT _ASCII STRING

INSTER=TRAP+Y :STRING INPUT ERROR

PARAM=TRAP+Y ; CONVERT ESRING TO OCTAL, CHECK LIHITS
SAVOSP=TRAP+Y . : SAV

RESOS=TRAP+Y : RESTORE RO-RS

SCOPEL=TRAF+Y :CHECK FOR FREEZE ON CURRENT DATA
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DZDHDC. PFC
g;g 001000 .=1000
874 :PROGRAM INITIALIZATION
875 :LOCK OUT INTERRUPTS
876 ,ser UP PROCESSOR STACK
877 T UP POMER FRIL VECTOR
878 :CLEAR PROGRAM FLAGS AND COUNTS
853 :TYPE TITLE MESSAGE
881 00100C 012767 000340 176770 START: MOV $340, PS :LOCK OUT INTERRUPTS
882 001006 012706 014734 MOV #STALK, 5P :SET UP PROCESSOR STACK
883 001012 012737 013732 000024 MOV sPFAIL . 3%24 :SET UP POWER FAIL TRAP
884 001020 005067 012670 CLR STFLG :CLEAR TEST START FLAG
885 001024 005067 012624 CLR PASCNT :CLEAR PASS COUNT
886 001030 005067 012622 CLR ERRCNT + CL Egﬂ ERROR COUNT
887 001034 005067 012612 CLR ERRFLG : CLEAR- ERROR FLAG
888 001040 7 012606 CLR RRFLG :CLEAR LAST ERROR PC
889 001044 109401 014076 TYPE MTITLE :TYPE TITLE MESSAGE
830 001050 005767 012636 ST INIFLG :CHECK INITIALIZATION FLAG
891 001054 001001 BNE VEC1 :IF NOT 0, CHECK SWITCHES
832 :FOR REINiTIRLIZRTION
893 001056 000404 BR VEC2
894 00i1060 032767 000001 176502 VEC1: BIT #5100, SKR :IF SWO0=1, GET NEW VECTOR
895 (001066 0OI44S BEQ BEGIN :AND CSR
8% 001070 012701 000300 VEC2: MOV 300, R1
897 001074 012702 0003C2 MOV 8302 R2
898 001100 012703 000004 MOV #4,R3
899 001104 010211 18: MOV R2' (R1) :RESTORE TRAPCATCHER
900 001106 00S012 CLR (R) :IN FLOATING VECTOR AREA
901 00:110 060301 ADD R3,Rl
902 001112 060302 ADD R3.R2
903 001114 020127 001000 CMP Ri. #1000
904 001120 00137! BNE 18
905 001122 104403 INSTR : INPUT ADDRESS OF DEVICE VECTOR -
906 001124 OI41%4 MVECTOR - :MESSAGE “VECTOR ADDRESS-"
907 001126 104405 PARAM ' : CONVERT .STRING TO OCTAL
908 001130 (000300 300 - Lou LIMIT
909 001132 000770 770 HIGH LIMIT
910 001134 013642 DHRVEC Locnrxons T0 ae FILLED
911 001136 003 .BYTE 3 :NUMBER OF LOCATIONS
912 001137 004 'BYTE 4 :LSB sx
913 001140 104403 INSTR : INPUT ADDRESS OF DEVICE CSR
914 001142 014166 - MREGRD :MESSAGE “CONTROL REGISTER ADDRESS-"
915 001144 104405 . PARAM : CONVERT STRING TO0 OCTAL
916 001146 000000 0 :LOW LIMIT
917 001150 177776 177776 *HIGH LIMIT
918 001152 013620 DHSCR Locnrxous T0 es FILLED
919 (001154 007 .BYTE 7?7 ,nunae OF LOCATIONS
920 001155 010 .BYTE 10 LSB MASK
921 001156 016767 012454 012454 MOV DHSSR, DHSLR :SET UP ADDRESS OF SILO
922 001164 005267 012450 INC DHSLR :STATUS REGISTER .HIGH BYTE
923 001170 005767 012516 15T INIFLG +IF INITIALIZATION FLAG
924 001174 001002 BNE  BEGIN :1S CLERRED
ggg 001176 005167 012510 COM - INIFLG , SET IT

827 ; PROGRAM START
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% :CHECK FOR PROGRAM START AT SELECTED ADDRESS
930 001202 012767 000340 176566 BEGIN: MOV $340, PS :LOY OUT INTERRUPTS

931 001210 012706 014734 MOV sSTALK SP +SET UP PROCESSOR STACK
932 001214 032767 000002 176346 BIT 501, SR +IF SWO1=1

933 001222 001410 BEQ 18 :GET PC FOR PROGRAM START
934 0Of 15&' 104403 INSTR :GET PC

935 001226 014332 MTSTPC *MESSAGE “TEST PC*

936 001230 104408 . PARAM : CONVERT STRING TO OCTAL
937 001232 A

938 001234 017500

939 (001236 000207 RETURN

40 001240 001 BYTE 1

941 001241 001 .BYTE 1

942 001242 000810 BR 2%

943 001244 012767 001274 012406 1S: MOV $T1, RETURN :NORMAL START, TEST 1

944 001252 00S767 012436 ST STFLG :IF LOOPING, BYPASS TYPEOUT
94S 001256 001004 BNE 33

94& 001260 00S1E7 012430 CoM STFLG

947 001264 109401 014326 2%: TYPE MR : TYPE "R” TO INDICATE START
S48 001270 000177 012364 38: IMP JRETURN :START TESTING
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DZDHDC. PFC
943
350 : TRANSMITTER LINE SPEED SELECTION TEST
951 s TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE O
g2 :VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
353 'VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
ggg ‘AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
95§ 0O0l1274 012767 000340 176474 TI: MOV 340, PS :DISABLE ALL INTERRUPTS
957 (001302 012767 000010 012356 MOV .- #10, ICOUNT sSET UP FOR 10 ITERATIONS
958 001310 012767 001SI14 012394 MOV 858, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
959 001316 012767 001352 012340 MOV uxs FREEZI - :SET UP TO LOOP WITH DATA
960 001324 012705 000000 MOV 0. RS :LINE O WILL BE TESTED
95] 001330 012700 002000 MOV ueboo RO :CONSTANT FOR SELECTION
362 | :OF INITIAL (LOWEST)
363 001334 012701 000015 MOV #15.R1 :15 DIFFERENT SPEEDS WILL BE TESTED
964 001340 012704 000001 - MOV &1, RY :BINARY CODE FOR INITIAL SPEE
965 001344 012767 177777 012350 MOV s-1, TIMEL :INITIALIZE COMPARISION VALUE
965 001352 012777 004000 012240 1§: MOV caxt11 JDHSCR :CLEAR INTERFACE
967 001360 010577 012234 MOV RS, JDHSCR :SELECT LINE O FOR TESTING
968 001364 00S077 012236 . CLR BA :CLEAR BUS ADDRESS
968 001370 012777 177775 012232 MOV #-3, JDHBC | ;SET UP TO_TRANSHIT
970 :3 cmmc ERS
971 001376 010077 012222 MOV RO, aDHLPR s SELECT spg
972 001402 00S0&7 012316 CLR TIMER s CLEAR Tnnusn ER TIME TIMER
973 001406 005067 012314 CLR TEMP] sSET UP NO CLOCK TIMER
974 00I412 012767 000010 012310 MOV 210, TEMP2
875 001420 012777 000001 012204 MOV %1, JDHBAR :SET BAR BIT FOR LINE O
376 :T0 START TRANSMISSION
‘977 001426 005777 012166 28: ST JOHSCR WAIT FOR TRANSMITTER
478 , :T0 FINISH
979 001432 100412 BM{ 35
980 001434 005267 012264 INC TIME2 :UPDATE TRANSMITTER TIMER
981 00I440 005267 012262 INC TEMP] :UPDATE NO CLOCK TIMER
982 001444 001370 BNE 2%
983 001446 005367 012256 DEC TEMP2
984 001452 001365 BNE 2§
985 001454 104001 HLT 1 : TRANSMITTER DID NOT FINISH, ERROR
985 001456 (000405 BR 4
987 001460 026767 012240 012234 38: CMP TIME2, TIMEL :VERIFY THAT TRANSMITTER
988 001466 103401 : BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
389 : (NUMBER OF counrs IN TIME2
990 :LESS THAN TIMEL)
gg% 001470 104002 HLT 2 T§nnsgxrrsn TIMING ERROR FOR
993 001472 104410 4§: SCOPEL ~ ;CHECK FOR FREEZE ON CURRENT DATA
994 001474 016767 012224 012220 MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
995 (001502 00S204 INC RY :SELECT NEXT SPEED
9% 001504 062700 002000 - ADD - $2000,R0
997 001510 005301 . DEC RI
938 (001512 001317 - BNE 1§
1333 001514 104400 . 5§: SCOPE :CHECK FOR ITERATIONS, LOOP
1001 : TRANSMITTER LINE SPEED SELECTION TEST
1002 s TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 1
1003 *VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED

1004 VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
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DZDHDC. PFC
iggg :AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
1007 001516 012767 76252 T2: MOV :DISABLE ALL INTERRUPT
1 .gé 815:7'27 3883" 8 625 MOV uo tc3um E? b k 6 §Emm S
1009 001832 012767 012122 MOV #58 . ESCAPE ser s APE 70 nexr TEST
1010 001540 012767 001574 012116 MOV oxs FREEZI :SET up TO LOOP WITH DATA
1011 001846 012705 000001 | MOV 1,R5 sLINE 1 WILL BE TESTED
1012 001552 012700 002000 MOV uaboo RO :CONSTANT FOR SELECTION
1013 _ :OF INITIAL (LOWEST) SPEED
1014 001556 012701 00001S MOV $15,R1 :15 oxrrsaenr spssns WILL BE TESTED
1015 001562 012704 000001 MOV 8l hq :BINARY CODE FOR INITIAL SPEED
1016 001586 012767 177777 012126 MOV s-1, TIMEL xnxranxze COMPARISION VALUE
1017 001574 012777 004000 012016 1S: MOV oart11 aouscn :CLEAR INTERFACE
1018 001602 010577 012012 MOV JDHSCR +SELECT LINE 1 FOR TESTING -
1019 001606 005077 012014 CLR oﬁen :CLEAR BUS ADDRESS
1020 001612 012777 177775 012010 MOV #-3, JDHBC +SET UP TO TRANSMIT
1021 :3 CHARACTERS |
1022 001620 010077 012000 MOV RO, 3DHLPR :SELECT LINE SPEED
1023 001624 00S06? 012074 CLR TIMER :CLEAR TRANSMITTER TIME TIMER
1024 001630 005067 012072 ~ CLR rsnp1 :SET UP NO CLOCK TIMER
1025 001634 012767 000010 012086 . MOV 10, TEMP2
1026 00164 012777 000002 011762 MOV 82, JDHBAR . s T BAR BIT FOR LINE 1
1027 . 'START TRANSMISSION
1028 001650 005777 011744 2%:. ST JDHSCR unxr FOR TRANSMITTER
1029 g 2 - :T0 FINISH
1030 DO1BSY 100412 BMI 3%
1031 001656 005267 012042 O INC TIME2 : UPDATE rnnnsnxrrsn TIMER
1032 001662 005267 012040 INC TEMPI :UPDATE NO CLOCK TIMER
1033 001666 001370 BNE 2§
1034 001670 005367 012034 DEC TEMP2
1035 001674 001365 BNE 23
1036 001676 104001 HLT 1 : TRANSMITTER DID NOT FINISH, ERROR
1037 001700 000405 BR 4$
1038 001702 026767 012016 012012 3§: CMP TIME2, TIMEL VERIFY THAT TRANSMITTER
1038 001710 103401 BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
1040 : (NUM R or COUNTS IN TIMEZ
1041 s LESS TIMEL)
{ggg 001712 104002 - HLT 2 T?ﬁESTITTER TIMING ERROR FOR
1044 001714 104410 4§: SCOPE :CHECK FOR FREEZE ON CURRENT DATA
1045 001716 016767 012002 011776 MOV TIME2, TIME] sSET UP FOR NEXT COMPARISION
1046 001724 005204 INC RY :SELECT NEXT SPEED
1047 001726 062700 002000 ADD 2000, RO -
1048 001732 005301 DEC RI
104 001734 001317 BNE 1§
iggg 001736 104400 5%: SCOPE - . sCHECK FOR ITERATIONS, LOOP
1052 s TRANSMITTER LINE SPEED SELECTION TEST
1053 TRANSMIT 3 CHAR cr§n§ AT A SELECTED SPEED ON LINE 2
1054 :VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
1055 :VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
1829 ‘AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
1058 001740 012767 000340 176030 T3: MOV #340, PS ~ ;DISRBLE ALL INTERRUPTS
1059 001746 012767 000C10 011712 MOV #10, 1COUNT :SET UP FOR-10.ITERATIONS

1060 001754 012767 002160 011700 MOV 458, ESCAPE | :SET UP TO ESCAPE TO NEXT TEST
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DZDHDC.PFC
{051 00};?8 oia;sr 002016 011674 gog n1s FREEZ! o 3 H:ET UP TO LOOP WITH DATA
1 001774 15783 883885 n8v 35003 RO ' 35hs?5u1 ?oﬁ SELECTION
1064 - : :OF INITIAL (LOWEST) SPEED
1068 oogggg 015701 000015 MOV 015 Rl T :15 DIFFERENT SPEEDS WILL BE TESTED
1066 00 012704 000001 MOV hq *BINARY CODE FOR INITIAL SPEED
1067 002010 012767 177777 011704 MOV l ME1 ' s INITIALIZE COMPARISION VALUE
1068 002016 012777 004000 011574 18: MOV cexf11 JDHSCR :CLEAR INTERFACE
1069 002024 010577 011570 C o MOV J0HSCR sSELECT LINE 2 FOR TESTING -
1070 00203C 00S077 011572 CLR aouan :CLEAR BUS ADDRESS
1071 002034 012777 177775 011586 MOV #-3, aDHBC .ssr UP TO TRANSMIT
1075 +3 CHARACTERS
1073 002042 010077 011556 MOV RO, aDHLPR :SELECT LINE SPEED
1074 002046 005067 011652 CLR TIME2 :CLEAR TRANSMITTER TIME TIMER
1075 002052 00S067 011650 CLR TEMPI :SET UP NO CLOCK TIMER
1076 002056 012767 000010 01144 MOV #10, TEMP2 |
1077 002064 012777 007004 011540 - MOV 84, JDHBAR ~ :SET BAR BIT FOR LINE 2
1078 : :T0 START TRANSMISSION
1079 002072 005777 011522 23: TST JDHSCR :WAIT FOR TRANSMITTER
1080 :TO FINISH
1081 002076 100412 - BMI 3%
1082 00210GC 005267 011620 INC TIME2 :UPDATE TRANSMITTER TIMER
1083 002104 005267 011616 INC TEMP1 :UPDATE NO CLOCK TIMER
1084 002110 001370 BNE 2%
1085 002112 005367 011612 DEC TEMP2
1086 002116 001365 BNE 2%
1087 0Ou=:20 104001 HLT 1 : TRANSMITTER DID NOT FINISH, ERROR
1088 002122 0OO40S BR 43
1089 002124 026767 011574 011570 38%: CMP TIME2, TIMEL :VERIFY THAT TRANSMITTER
1090 002132 103401 BLO 48 :WAS FASTER AT THIS SELECTED SPEED
1081 s (NUMBER OF COUN TS IN TIMEZ
1092 :LESS THAN TIME1)
}gga 002134 104002 HLT 2 T?ﬂESSITTER TIMING ERROR FOR
1095 002136 104410 4§ SCOPE1 :CHECK FOR FREEZE ON CURRENT DATA
1096 002140 016767 011560 011554 MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
1097 002146 00S204 INC RY :SELECT NEXT SPEED
1098 002150 062700 002000 ADD #2000, R0
1099 002154 00S301 DEC Rl
1100 002156 001317 BNE 1§
iigé 002160 104400 S SCOPE :CHECK FOR ITERATIONS, LOOP
1103 : TRANSMITTER LINE SPEED SELECTION TEST
1104 s TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 3
1105 :VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
1106 sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
i}gg :AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
1109 002162 012767 000340 175606 TH: MOV $340, PS DISRBLE ALL INTERRUPTS
1110 002170 012767 000010 011470 MOV #10, tCCUNT :SET UP FOR 10 ITERATIONS
1111 002176 012767 002402 011456 MOV %58 | ESCAPE :SET UP TO ESCAPE 10 NEXT TEST
1112 002204 012767 002240 011452 MOV u1s FREEZI :SET UP TO LOOP WITH DATA
1113 002212 012705 000003 MOV 3RS :LINE 3 WILL BE TESTED
1114 002216 012700 002000 MOV ueboo,no :CONSTANT FOR SELECTION
1115 1OF INITIAL (LOWEST) SPEED
1116 002222 012701 000015 MOV $15,R! : 15 DIFFERENT SPEEDS WILL BE TESTED
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n—0O..0

b2
002470
002474

012704

012777
00s777

100412
005267
00se

103401
104002

104410
016767

104400

012701
012704
012767
012777
010577
00s077
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000001
177777
004000
011346
011350

7775

000010
011300
011376
011374
011370

011352

011336
002000

000340
000010

002000

000015
000001
177777
004000
0illeH
011126

et —————

011346

011332

175364
01146
011234
011230

18:

cs:

3%:

4s:

cs:

TS:

18:

MOV

HLT
SCOPE!
M

SCOPE

#-3, dDHBC

RO, JDHLPR
TIMER
TEMP!
210, TEMP2

#10, JDHBAR

JdDHSCR
3%
TIME2
TEMP1
e$
TEMP2
c$

1

t )
TIME2, TIMEL
4$

e

E&MEE,TIMEI
#2000, R0

Rl

13

;BINARY CODE FOR INITIAL SPEED

1 COMPRRISION VALUE
LA D
s SELECT LINE 3 FOR TESTING

sCLEAR BUS ADDRESS
:SET UP TO TRANSMIT
:3_CHARACTERS

;SELECT LINE SPEED

sCLEAR TRANSMITTER TIME TIMER
:SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 3
:T0_START TRANSMISSION
iWAIT FOR TRANSMITTER
:T0 FINISH

;UPDATE TRANSMITTER TIMER
:UPDATE NO CLOCK TIMER

; TRANSMITTER DID NOT FINISH, ERROR

; VERIFY THAT TRANSMITTER

sMAS FASTER AT THIS SELECTED SPEED
; (NUMBER OF COUNTS IN TIMEZ2

sLESS THAN TIMEL)

T?QESQITTER TIMING ERROR FOR

;L
:CHECK FOR FREEZE ON CURRENT DATA
sSET UP FOR_NEXT COMPARISION

:SELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOCP

; TRANSMITTER LINE SPEED SELECTION TEST

; TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 4
;VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

sAT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEE

MOV
MOV
MOV
MOV
MOV
MOV

8340, PS
#10, 1COUNT
%58 ESCAPE
18 FREEZI
#4, RS
cabno RO

$15,R!
$1,RY
s-1, TIMEL

$81%11, JDHSCR:

RS, aDHSCR
JDABA

;DISABLE ALL INTERRUPTS

sSET UP FOR 10 ITERATIONS

sSET UP TO ESCAPE TO NEXT TEST
:SET UP TO LOOP WITH DATA

:LINE 4 WILL BE TESTED

; CONSTANT FOR SELECTION

:OF INITIAL (LOWEST) SPEED

;15 DIFFERENT SPEEDS WILL BE TESTED
sBINARY CODE FOR INITIAL SPEED

s INITIALIZE COHPRRISION VALUE
sCLEAR INTERFACE

tSELECT LINE 4 FOR TESTING

;CLEAR. BUS ADDRESS
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002500

EIE
002E1b

002522
002530

002536
002542

002626
002634
002642
002650
002656
002662

002666
002672
002676
002704
002712
002716
002722

002730
002734
002740

012777

8080¢ 7

005067
8}279?

00s777

100412
00S267
00Seb?
001370
00S367
001365

103401

104002

104410
016767

010077
005067
005067
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177778

81130
011204
000010
000020

011056

011154

011152

011146

011130

011114
002000

000340
000010
003046
002000

000015

177775

010670
010764
010782

0illez2

Ollle4

011110

cs:

38:

43:

S%:

T6:

18:

MOV #-3, JdDHBC ,aET UP T0 TRANSMIT
;3 _CHARACTERS

EEE §?hﬂgﬂLPR EEtEﬁ ThaNEM?PFEB TIME TIMER

CLR TEMP1 sSET UP NO CLOCK TIMER

MOV #10, TEMP2
MOV #20, IOHBAR ;SET BAR BIT FOR LINE 4
:T0 START TRANSMISSION

TST JDHSCR ‘ :WAIT _FOR TRANSMITTER
:T0 FINISH
BMI 3% :
INC TIME2 ;UPDATE TRANSMITTER TIMER
INC TEMPI :UPDATE NO CLOCK TIMER
BNE c$
DEC TEMP2
BNE c$
ng &S ; TRANSMITTER DID NOT FINISH, ERROR
CMP TIMEZ, TIMEL ; VERIFY THAT TRANSMITTER
BLO 4$ sWAS FASTER AT THIS SELECTED SPEED
(QUMBER OF COUNTS IN TIME2
sLESS THAN TIMEL)
HLT e ;E;ﬂESHITTER TIMING ERROR FOR
SCOPE! ; CHECK FOR FREEZE ON CURRENT DATA
MOV TIMES, TIME! sSET_UP FOR NEXT COMPARISION
INC RY ;SELECT NEXT SPEED
RDD #2000, R0 ,
DEC - Rl
BNE 13
SCOPE ;CHECK FOR ITERATIONS, LOOP

; TRANSMITTER LINE SPFED SELECTION TEST
: TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE S
VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
%RIFY THAT TH% AMOUN OF TIME TAK gE %

THIS SPEED THRAN AT THE PREVIOU LY LECTED SPEED

:DISABLE ALL INTERRUPTS
:SET UP FOR 10 ITERATIONS
MOV 45§, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV uxs FREEZI :SET UP TO LOOP WITH DATA
5, RS :LINE 5 WILL BE TESTED
MOV uaboo RO : CONSTANT FOR SELECTION
sOF INITIAL (LOWEST) SPEED

nov %340, P
MOV 810, fcouur

MOV $15.R1 +15 DIFFERENT SPEEDS WILL BE TESTED
MOV 81, RY :BINARY CODE FOR INITIAL SPEED
MOV s-1,TIMEL INITIALIZE COMPARISION VALUE
MOV 091?11 JDHSCR :CLEAR INTERFACE
MOV JDHSCR :SELECT LINE 5 FOR TESTING
CLR aoﬁaa :CLEAR BUS ADDRESS
MOV #-3, dDHBC :SET UP TO TRANSMIT

:3 CHARACTERS
MOV RD ADHLPR :SELECT LINE SPEED
CLR éﬁea :CLEAR TRANSMITTER TIME TIMER
CLR TEMPI :SET UP NO CLOCK TIMER
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BO3

#10, TEMP2
#40, JOHBAR

dDHSCR
33
TIME2
TEMPL
4
TEMP2
2%

l

43
TIME2, TIMEL
43

e

;&HEE.TIHEI
82000, R0

Rl

18

;SET BAR BIT FOR LINE S
:T0 START TRANSMISSION
iWAIT FOR TRANSMITTER

i 70 FINISH

;UPDRTE TRANSMITTER TIMER
:UPDATE NO CLOCK TIMER

; TRANSMITTER CID NOT FINISH, ERRCR

: VERIFY THAT TRANSMITTER

:WAS FASTER AT THIS SELECTED SPEED
; (NUMBER OF COUNTS IN TIMEZ

:LESS THAN TIMEL)

TRQNSHIT'ER TIMING ERRCR FOR

CK FOR FREEZE ON CURRENT DATA

SE UP FOR NEXT COMPARISION
; SELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOOP

; TRANSMITTER LINE SPEED SELECTION TEST

s TRANSMIT 3 CHARACTERS

A SELECTED SPEED ON

LINE &
:VERIFY THAT TRRNSHITTER DONE OCCURS AT THE SELEC'ED SPEED

:VERIFY THAT THE AMCUN OF
:AT THIS SPEED THAN AT THE PREVIOUSLY

0000180 0Q107S6 MUV
000040 010652 MOV
10834 2%: TST
i BMI
010;33 INC
010730 INC
= BNE
010724 DEC
BNE

LT

3=

010706 010702 3%: cMP
BLC

HLT

43: SCOPEL

010672 DQ1066t ?g!
"

002000 ADD
REC

BNE

cs: SCOPE

0340 174720 T7: MOV
COCC10 010602 MV
3270 010570 MOV
003126 C10Sed4 MOV
00006 MOV
00 MOV
000C1S MOV
00C001 MOV
177777 Q10874 MOV
CO4000 010464 18: MOV
010460 MOV
010462 CLR
177775 010456 MOV
010446 MOV
010542 CLR
010S40 CLR
000010 010534 MOY
000100 010830 MOV
010412 28: TST

8340, PS
810, YCOUNT
858 ESCAPE
ns 'FREEZ!
&, RS
caboc RO

8l15,Rl
8l RY

l TIMEL
:31711 3DHSCR
RE

J0HSCR
3DHBA
#-3, I04BC

RO, 3DHLPR
TIMER

rsnpx

810, TEMP2

8100, JOHBAR

JDHSCR

TRKEN I

LESS
LECTED SPEED
:0ISABLE ALL INTERRUPTS

1SET UP FOR 10 ITERATIONS
26T P 10 ESCAPE 10 NexT TEST

1SET UP TO LOOP WITH DATA

ILL BE TESTED

;CONSTANT FOR SELECTION

1OF INITIAL (LOWEST) SPEED

115 DIFFERENT SPEEDS WILL BE TESTED
'8INARY CODE FOR INITIAL SFEED
'INITIALIZE COMPARISION VALLE
:CLEAR_INTERFACE

1SELECT LINE b FOR TESTING

;CLEAR BUS ADDRESS

;SET UP TO TRANSMIT

: 3 CHARACTERS

:SELECT LINE SPEED

:CLEAR TRANSMITTER TIME TIMER
1SET UP NO CLOCK TIMER

:SET BAR BIT FOR LINE &
:T0 START TRANSMISSION
iWAIT FOR TRANSMITTER

: 70 FINISH
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003226 001365
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003234 026767
003242 103401
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Q10810
010508

010802

010464

010480
002000

000340
000010
003812
003350
000307
002000

0000}
177777
004000
010236

010240
177775

010460

010444

010352
010242

010234

0103ie
010208

33:

4s:

53:

T10:

13:

28:

BMl 3%

ING  TIME2 ;UPDATE TRANSMITTER TIMER

IN.  TEMPL *UPDATE NO CLOCK TIMER

Bt SEwee

BNE 28 T

U : TRANSMITTER DID NOT FINISH, ERROR

CMP  TIME2,TIMEL ;VERIFY THAT TRANSMITTER

BLO 9§ {UAS FASTER AT THIS SELECTED SPEED
} (NUMBER OF COUNTS IN TIMES
!LESS THAN TIMEL)

Y 2 Tgsgsgxrrsn TINING ERROR FOR

SCOPEL ' CHECK FOR FREEZE ON CURRENT' DATA

MOV TIME2, TIMEI !SET UP FOR NEXT COMPARISION

INN  RY :SELECT NEXT SPEED

400  #2000,R0

DEC  RI

BNE 1§

SCOPE ;CHECK FOR ITERATIONS, LOOP

: TRANSMITTER LINE SPEED SELECTION TEST

s TRANSMIT 3 CHﬂRﬂCTER? AT A SELECTED SPEED ON LINE 7

sVERIFY THAT TRANSMIT ER DONE OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME -TAKEN IS LESS

;AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 8340, PS :DISABLE ALL INTEQRJPTS
MOV 810, 1COUNT :SET UP FOR 10 ITERATIONS
MOV 85§ ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV 818 FREEZ! :SET ro LOOP WITH DATA
MOV 87 h -LINE 7 WILL ;osn
MOV 820 - CONS nnr SELECTION
MOV #15,R1 108 I"églgkn%ngESB) WILL as rssrsn
A 15, QUrFRRENT, SEECDS WILL BE
MOV ns INITIR& %E conPnnrszon anue
MOV oarm OHSCR :CLEAR INTE
MOV RS, JDHSCR :SELECT LINE 7 ron TESTING
CLR JDHBA CLEﬂR BUS ADDRESS
MOV -3, aouac :SET UP TO TRANSMIT

: 3 CHARACTERS
MOV RO, 3DHLPR :SELECT LINE SPEED
CLR TIAER :CLEAR TRANSMITTER TIME TIMER
CLR renp :SET UP NO CLOCK TIMER
MOV 10 TEHPE
MOV 200, 30HBAR :SET §m BIT FOR LINE 7

:T0 START TRANSMISSION
TST JDHSCR ‘WAIT FOR TRANSMITTER

:TO FINISH
BMI 33
IN TIME2 :UPDATE TRANSMITTER TIMER
INC TEMP! :UPDATE NO CLOCK TIMER

BNE 41
DEC TEMP2
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000403
02676
103401
104002

109410

016767
05204

062700
00S301
001317
104400

103401
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010242 010238
010226 010222
0C2000
000340 174254
000010 - Q10136
003734 010124
003572 (10120
GC0010
002000
Dﬂﬂﬂli
177777 010130
010020
010014
013016
177775 Cl00l2
0100302
010076
010074
000010- 010070
0400 0O077e4
007746
010044
010042
010036
01002C Ol10CIM

38:

48:

cs:

Til:

18:

e3:

28:

BNE
HLT
BR

CMP
BLO
HLT
SCOPEL
MOV
INC
RDD
DEC
BNE
SCOPE

D03

ES

S
TgMEE , TIME]

e

TIME2, TIMEL
R4

#2000, R0
Rl

; TRANSMITTER DID NOT FINISH, ERROR

; VERIFY THAT TRANSMITTER

HRS FQSTER AT THIS SELECTED SPEED
; (NUMBER OF COUNTS IN TIMEZ

sLESS THﬂN TIMEL)

TRQNS;ITTER TIMING ERROR FOR

INE
CHECK FOR FREEZE ON CURRENT DATA
iSET UP FOR NEXT COMPARISICN
;SELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOOP

;SRNSHITTER LINE SPEED SELECTION TEST

ANSMIT

3_CHARACTER

S AT A SELECTED SPEED ON

LINE 1
:VERIFY THAT TRANSMITTER DONE OCCURS AT THESSELECTED SPEED

:VERIFY THAT THE AMOUN OF

TIME TAKEN

IS LE
:AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV
MOV
MOV
MOV
MOV
MOV

#340,PS
10, 1COUNT
#5$ . ESCAPE
818 FREEZI
210 RS
22000, R

IMEL
:exfxl SDHSCR
RS

J0HSCR
JDHBA
#-3, 3DHBC

RO, 3DHLPR
TIMER

TEMP]

810, TEMP2

- 8400, JDHBAR

JDHSCR
3%
TIME2
TEMP!
ed
TEMP2
2%

1

4$
TIME2, TIME!
48

sLINE 10 WILL BE
; CONSTAN

D%%ﬂg#i NTERRUPTS

FOR 10 ITERATIONS

SET UP TO ESCAPE TO NEXT TEST
:SET UP_TC LOOP WITH DRTA

TESTED
ANT FOR SELECTION
sOF INITIAL (LOWEST) SPEED
115 DIFFERENT SPEEDS WILL BE TESTED
+BINARY CODE FOR INITIAL SPEED
;s INITIALIZE COMPARISION VALUE
:CLEAR_INTERFACE
;SELECT LINE 10 FOR TESTING
;CLEAR BUS ADDRESS
:SET UP TO TRRNSHIT
:3 CHARACT E S
:SELECT LINE SPEED
: CLEAR TRRNSHITTER TIME TIMER
:SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 10
s TO START TRANSMISSION
:WAIT FOR TRANSMITTER
;T FINISH

;UPDRTE TRANSMITTER TIMER
;UPDATE NO CLOCK TIMER

; TRANSMITTER DID NOT FINISH, ERROR

; VERIFY THAT TRANSMITTER
tWAS FASTER AT THIS SELECTED SPEED
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}39? : (NUMBER OF COUNTS IN TIME2
{§§§ 003710 104002 HLT 2 - *Eznsnérrsn "?nlnc ERROR FOR
1401 003712 104410 4§: SCOPE1 ) cu;cx FOR FREEZE ON CURRENT DWTA
1402 003714 016767 010004 010000 MOV TIME2, TIMEL tSET UP FOR NEXT CCMPARISION
1403 003722 005204 INC RY +SELECT NEXT SPEED

1404 003724 062700 002000 ADD $2000, R0

1405 003730 005301 DEC Rl

1406 003732 001317 BNE 18

i:gg 003734 104400 c$: SCOPE :CHECK FOR ITERATIONS, LOOP
1409 ; TRANSMITTER LINE SPEED SELECTION TEST

1410 - TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 1

1411 :VERIFY THAT TRANSMITTER DONE OCCURS AT THE ssLscrso SPEED
1412 sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

iaia ‘AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

1415 003736 012767 000340 174032 Ti2: MOV #340, PS :DISABLE ALL INTERRUPTS

1416 003744 012767 000010 007714 MOV 2.0, 1COUNT :SET UP FOR 10 ITERATIONS

1417 003752 012767 004156 007702 MOV 5§ ESCAPE :SET UP TO ESCAPE TO NEXT TEST
1418 003760 012767 004014 007676 MOV 818, FREEZ! :SET UP TO LOOP WITH DATA

1419 003766 012705 00001l MOV 811 RS :LINE 11 WILL ae TESTED

1420 003772 012700 002000 MOV $2000, RO ,CONST T FOR SELECTION

1421 j :OF INITIAL (LOMWEST) SPEED
1422 003776 012701 00001s MOV $15,R1 :15 DIFFERENT SPEEDS WILL BE TESTED
1423 004002 012704 000001 MOV 81 RY ,axnnn Y CODE FOR INITIAL SPEED
1424 004006 012767 177777 007706 MOV s-1, TIMEL s INITIAL IZE COMPARISION VALUE
1425 004014 012777 004000 007576 1$: MOV 8I}11, JDHSCR ;CLEAR INTERF

1426 004022 (010577 007572 1OV RS, J0HSCR SELECT LINE 11 FOR TESTING
1427 004026 00S077 007574 CLR JDHBA CLEAR BUS ADDRESS

1428 004032 012777 177775 007570 MOV $-3, JDHBC szr UP TO TRANSMIT

1429 :3 CHARACTERS

1430 0OMOMQ 010077 007560 MOV RO, aDHLPR :SELECT LINE SPEED

1431 004044 00S06? 007654 CLR TIMER :CLEAR mnnsnmsn TIME TIMER
1432 004050 00S067 007652 CLR TEHP% :SET UP NO CLOCK TIMER

1433 004054 012767 000010 CO7B4E MOV 210, TEMP2

1434 004062 012777 001000 007542 MOV #1000, 3DHBAR :SET BAR BIT FOR LINE 11

1435 :T0 START TRANSMISSION

1436 004070 00S777 007524 23: ST JDHSCR ‘WAIT FOR TRANSMITTER

1437 :T0 FINISH

1438 004074 100412 BMI 33

1439 004076 00S267 007622 INC TIMER :UPDATE TRANSMITTER TIMER

1440 004102 005267 007620 INC TEMP] :UPDATE NO CLOCK TIMER

1441 004106 001370 BNE 2%

1442 004110 00S367 007614 DEC TEMP2

1443 004114 001365 BNE 3

1444 004116 104001 HLT 1 : TRANSMITTER DID NOT FINISH, ERROR
153 004120 000405 BR 4§

1446 004122 026767 0OC7S76 007572 3§%: CMP TIME2, TIMEL :VERIFY THAT TRANSMITTER

1447 004130 103401 BLO 43 WAS FASTER AT THIS sstcrso SPEED
1448 : (NUMBER OF COUNTS IN TIME2
1449 :LESS THAN TIMEL)

i:gg 004132 104002 HLT 2 T?QEST{TTER rxnxnc ERROR FOR
1452 004134 104410 4§: SCOPE | :CHECK FOR FREEZE ON CURRENT DATA
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1453 004136
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1457 00415
1458 004156

366
1506 004370
1507 0Q4374
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007562
002000

007340
002000

0075S6

007464
007354

007346

007424
007320

0073S0

007334

Ss:

T13:

es:

38:

4S:

TIME2, TIME! ;SET _UP FOR NEXT COMPARISION
aNS RY s SELECT NEXT SPEED
D #2000, R0
DEC Té _
SCOPE ' ; CHECK FOR ITERQTIbNS LOOP

; TRANSMITTER LINE SPEED SELECTION TEST

TRQNSHIT 3_CHARACTERS AT A SELECTED SPEED ON LINE 12
RIFY THAT TRQNSHITTER DONE OCCURS AT THE SELECTED SPEED
VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

RT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV %10, 1COUNT :SET UP FOR 10 ITERATIONS

MOV 258, ESCAPE :SET UP TO ESCAPE TO NEXT rssr
MOV %19, FREEZ] :SET UP TO LOOP WITH DATA
MOV 812 RS :LINE 12 WILL BE TESTED
MOV #2000, RO :CONSTANT FOR SELECTION

+ 30F INITIAL (LOWEST) SPEED
MOV $15,R1 :15 DIFFERENT SPEEDS WILL ae rss ED
MOV 81, RY ;BINARY CODE FOR INITIAL SPEE
MOV s-1 TIMEL *INITIALIZE COMPARISION vm.ue
MOV #8111, JDHSCR :CLEARR INTERFACE
MOV RS, JDHSCR sa.ecr LINE 12 FOR TESTING
CLR JDHBA , :CLEAR BUS ADDRESS
MOV #-3, 3DHBC ;SET UP TO TRANSHIT

:3 CHARACTERS

MOV RO, SDHLPR ‘SELECT LINE SPEED
CLR TIMER :CLEAR TRANSMITTER TIME TIMER
CLR TEMPI :SET UP NO CLOCK TIMER

MOV cxo TEMP2
MOV #2000, 3DHBAR :SET BAR BIT FOR LINE 12

:T0 START TRANSMISSION

TST JDHSCR NQIT FOR TRANSMITTER
:TO FINISH
. BMI 33 .
- INC TIME2 _ ;UPDATE TRANSMITTER TIHER
INC TEMPI | ;UPDATE NO CLCCK TIMER
BNE 4] '
DEC TEMP2
BNE 2%
ng és : ; TRANSMITTER DID NOT FINISH, ERROR
CMP TIME2, TIME! s VERIFY THAT TRANSMITTER
BLO 48 WAS FASTER AT THIS SELECTED SPEED
© '3 (NUMBER OF COUNTS IN TIMER
© ;LESS THAN TIME!)
HLT e E?ﬁgSﬂéTTEﬂ TIHING ERROR FOR
SCOPE1 sCHECK FOR FREEZE ON CURRENT DATA
MOV TIME2, TIMEL tSET UP FOR NEXT COHPRRISION
INC RY s SELECT NEXT SPEED
ADD #2000, RO :
DEC Rl
BNE 13
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5§: SCOPE :CHECK FOR ITERATIONS, LOOP
: TRANSMITTER L D SELECTI
rné{ Smmsﬁﬁ ?bemssnmonumxa
VERIFY THAT TRANSMITT E THE SELECTED SPEED
vcn FY THAT THE AMOUN 0 ert SELE g
HIS SPEED THAN AT THE P VIOUSLY CTED SPEED
000340 173366 TI14: nov #$340, PS :DISABLE ALL INTERRUPTS
000010 007250 MOV 10, COUNT . 'SET UP FOR 10 ITERATIONS
00N6e2 007236 MOV 858, ESCAPE ~ iSET UP 70 ESCAPE TO NEXT TEST
00N460 007232 MOV 18, FREEZ] sg T0 LOOP WITH DATA
000013 MOV $13'RS ;LINE 13'WILL BE TESTED
002000 MOV #2000, RO CONSTANT roa SELECTION
,or INITIAL (LOMEST) SPEED
000015 MOV %15,R1 ,15 DIFFERENT SPEEDS WILL BE TESTED
000001 MOV 81, RY :BINARY cggc FOR INITIAL SPEED
177777 007242 MOV s-1. TIMEL s INITIALI conpnnxsxon VALUE
00N000 007132 18: MOV s81t11 aonscn :CLEAR INT
007126 MOV  RS,aDHSCR ;SELECT LINE 15 FOR TESTING
007130 CLR aoﬁan ,c EAR BUS ADDRESS
177775 007124 MOV #-3, JDHBC ~ iSET UP T0 Tgnnsnxr
007114 MOV RO, JOHLPR ' gELECT LINE SPEED
007210 . . . CLR TIME2 s CLEAR TRANSMITTER TINE TIMER
007206 CLR rsm | :SET UP NO CLOCK TIMER
000010 007202 MOV 210, TEMP2 ‘
004000 007076 MOV #4000, JDHBAR :SET BAR BIT FOR LINE 13
:T0 START TRANSMISSION
007060 28: ST JDHSCR - ‘WAIT FOR TRANSMITTER
e ¥ . :TO FINISH
007156 INC TIME2 :UPDATE TRANSMITTER TIMER
007154 éng EE"PI :UPDATE NO CLOCK TIMER
007150 DEC TEMP2
~ BNE 2§
_ g%r 55 +TRANSMITTER DID NOT FINISH, ERROR
007132 007126 38: CMP TIME2, TIMEL :VERIFY THAT TRANSMITTER
BLO 4§ uns FRSTER AT THIS SELECTED SPEED
: NUMBER OF couu S IN TIME2
LESS THAN TIMEL)
HLT g E¥ﬁgsn§rrsn TIMING ERROR FOR
4§: SCOPE 1 :CHECK FOR FREEZE ON CURRENT DATA
007116 007112 MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
INC R4 :SELECT NEXT SPEED
002000 ggg aaooo RO
BNE 1s
c§: SCOPE :CHECK FOR ITERATIONS, LOOP

; TRANSMITTER LINE SPEED SELECTION TEST
s TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 14
tVERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
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1565 :VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
iEE? , ‘AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
1568 ngsgg 81 oooawg 173144 TIS: MOV 340, PS :DISABLE ALL INTERRUPTS
1569 12767 000010 ‘007026 MOV #10, 1COUNT :SET UP FOR 10 ITERATIONS
1570 oowsu 012757 005044 007014 MOV 858 ESCAPE :SET UP TO ESCAPE 10 NEXT TEST
15871 012767 004702 007010 MOV 815, FREEZI :SET UP TO LOOP WITH DATA
1572 ooqssq 012705 000014 MOV $14'R :LINE 14 WILL BE TESTED
1573 004660 012700 002000 MOV caobo RO CONSTANT FOR SELECTION
1574 :OF INITIAL (LOWEST) SPEED
1575 DO4Ye6M 012701 0Q001S MOV cxs Rl ' 15 oxrrsnsnr spesos WILL BE TESTED
1576 004670 012704 000001 MOV 1, Ry :BINARY CODE FOR INITIAL SPEED
1577 004674 012767 177777 007020 MOV o-l TIMEL INITIRLIZE COMPARISION VALLUE
1578 004702 012777 004000 006710 1S: MOV oex111 JDHSCR :CLEAR INTERFACE
1579 004710 010577 006704 MOV RS, 3DHSCR *SELECT LINE 14 FOR TESTING
1580 004714 005077 006706 CLR JDABA :CLEAR BUS ADDRESS
1581 004720 012777 177775 006702 MOV #-3, JOHBC :SET UP TO TRANSMIT
1582 :3 CHARACTERS
1583 004726 010077 006672 MOV RO, 3DHLPR :SELECT LINE SPEED
1584 004732 00S067? 006766 CLR TIMER :CLEAR rmnsnmem TIME TIMER
1585 004736 005067 006764 CLR TEMP] ssr UP NO CLOCK TIMER
1586 00474 012767 000010 006760 MOV #10, TEMP2 3
1587 004750 012777 010000 006654 MOV 10000, 90HBAR sSET BAR BIT FOR LINE 14
1588 70 START TRANSMISSION
1589 004756 005777 006636 2%: ST aDHSCR SWAIT FOR TRANSMITTER
1590 :T0 FINISH
1591 004782 100412 BMI 33
1582 004764 005267 006734 INC TIMER2 :UPDATE TRANSMITTER TIMER
1893 004770 005267 006732 INC TEMP] :UPDATE NO CLOCK TIMER
1534 004774 001370 BNE 2%
1595 004776 005367 0O0E726 DEC TEMP2 |
1596 005002 001365 BNE 3
1597 00S004 104001 HLT 1 ; TRANSMITTER DID NOT FINISH, ERROR
1598 (00S00e (000405 BR 4
159 005010 026767 006710 006704 38: CMP TIME2, TIMEL sVERIFY THAT TRANSMITTER
1600 005016 103401 BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
1601 : (NUMBER OF COUNTS IN TIME2
1602 : ‘ :LESS THAN TIME1)
§gga 00S020 104002 | HLT 2 - E?ﬁgsTngER TIMING ERROR FOR
1605 005022 104410 : 4§: SCOPEL : :CHECK FOR FREEZE ON CURRENT DATA
1606 005024 016767 00674 006670 MOV TIME2, TIME] SET UP FOR NEXT.CCMPARISION
1607 . 005032 00S204 INC RY $SELECT NEXT SPEED
1608 005034 062700 002000 ADD #2000, RO
1609 00S040 005301 DEC R1
1610 005042 001317 BNE 1§ ¢ aek
igfé 005044 104400 5§: SCOPE :CHECK FOR ITERATIONS, LOOP
1613 : TRANSMITTER LINE SPEED SELECTION TEST
1614 ' TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 1S
1615 :VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
1616 sVERIFY THAT THE. AMOUN OF TIME TAKEN IS LESS
{Eig tAT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
1619 00SQ46 012767 000340 172722 TiB: MOV 340, PS :DISABLE ALL INTERRUPTS
1620 005054 012767 000010 00660 MOV %10, tcouur tSET UP FOR 10 ITERATIONS
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1621 005062
15‘53 302058
: 005102
IESE 005106
1627 00S11e
1628 00515&
1629 (00S!
1630 00S132
1631 00S136
1632 00Siv4e
1833
1634 00S150
1635 00S154
1636 00S160
1637 00S164
1638 00S172
1639
1640 005200
1641
1642 005204
1643 005206
1644 Q00S212
1645 005216
1646 00Se20
1647 (005224
1648 005226
1649 00S230
1650 00S232
1651
1652
1683
1654 00S242
1585
1656 00S244
1657 (005246
1658 (00S254
1659 00S2S6
1660 00S26e
1661 00S2eY4
1662 005266
1863
164
1665
166k
1667
1668
1669
1670 00S270
1671 005276
1672 00S304
1672 00S312
1674 005320
1675 005324
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012767

005266

003018
002000

" DOBS7E
0064

006572
006566
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006460

006536
006432

006462

COB446

172500

006394

18:

2s:

3%:

4s:

cs:

T17:
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s
%
MOV
MOV
MOV

MOV
MOV

HLT
SCOPE1
MOV
INC
ADD
DEC

BNE
SCOPE

103

858, ESCAPE
Ilg JFREEZI

oaobo RO

TIMEL
aartxx JDHSCR
Hécn

ao

-3, aoHac

RO, JDHLPR

TIMER

rerm
0, TEMP2

420000 JDHBAR

JDHSCR

33

TIME2

TEMP]

cs

TEMP2

es

4$

TiME2, TIMEL
4§

e

;&HEB,TIMEI
%2000, R0
Rl

18

,:ET UP TO ESCAPE TO NEXT TEST

;LINE 15 HELL BET? gggp WENE s
NSTANT FOR SELECTION

,15 6”#:& NT-SPEECS AILL 8 TESTED
ODE FOR INITIAL SPEED

éﬁéTIﬂ%I%E COMPARISION VALUE
s SELECT LINE 15 FOR TESTING
:CLEAR BUS ADDRESS

sSET UP TO TRANSMIT
:3_CHARACTERS

:SELECT LINE SPEED

;CLEAR TRANSMITTER TIME TIMER
;SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 1S
;TO_START TRANSMISSION
sWAIT FOR TRANSMITTER
:T0 FINISH

;UPDATE TRANSMITTER TIMER
;UPDATE NO CLOCK TIMER

; TRANSMITTER DID NOT FINISH, ERROR

; VERIFY THAT TRANSMITTER

:WAS FASTER AT THIS SELECTED SPEED
(NUHBER OF COUNTS IN TIME2

sLESS T TIMEL)

TRRNSH%TTER TIHING ERROR FOR

LINE 1
;CHECK FOR FREEZE ON CURRENT DATA

iSET UP FOR NEXT COMPARISION
:SELECT NEXT SPEED .

;CHECK FOR ITERATIONS, LOOP

; TRANSMITTER LINE SPEED SELECTION T ST

s TRANSMIT 3 CHARACTERS AT A SELECT

f"l
om

SPEED ON LINE 16
sVERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN LESS
;AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV
MOV
MOV
MOV
MOV
MOV

340, PS

210, 1COUNT
25§ ESCAPE
uxs FREEZl

ceobo

1SET
;LINE 16 HILL BE

UN OF TIME TAKEN IS

;DISABLE ALL INTERRUPTS

sSET UP FOR 10 ITERATIONS

sSET UP TO ESCAPE TO NEXT TEST
UP TO %00P WITH DATA

TESTED
ONSTANT FOR SELECTION
OF INITIRL (LOWEST) SPEED
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000015
000001
77777
000

B2
177775

Q0esss

006320

006172
006270
006266
006262

00644

006230
002000

e

006236

06210

006240

006224

172256

O0klee

006132
00&022

18:

cs:

4s:

Ss:

T20:

18:

MOV
MOV
MoV
MOV

SCOPE

JO3

#1S.Rl
81, RY

OB}?IIHSCHSCR
RS, 3DHSCR
JDAHBA

-3, aonac

RO, aDHLPR
TIMER

TEMP1

#10, TEMP2
#40000, a0HBAR
JDH=CR

33

TIME2

TEMPI

2%

TEMP2

23

1

4§

TIME2, TIMEL
43

2

g&HEE,TIHEl
#2000, R0

Rl

1%

DIFFERENT SPEEDS WILL BE TESTED
NARY CODE FOR INITIAL SPEED

,15
:égERAQ&I;E EgﬂPﬂRISION VALUE

'SELECT LINE SPEED
}ZLEAR TRANSMITTER TIME TIMER
1GET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 1b
:TO_START TRANSMISSION
sWAIT FOR TRANSMITTER
:T0 FINISH

;UPDATE TRANSMITTER TIMER
sUPDATE NO CLOCK TIMER

; TRANSMITTER DID NOT FINISH, ERROR

; VERIFY THAT TRANSMITTER

iWAS FASTER AT THIS SELECTED SPEED
; (NUMBER OF COUNTS IN TIMEZ

:LESS THAN TIMEL)

TRQNSHITTER TIMING ERROR FOR

;LINE 16
CHECK FOR FREEZE ON CURRENT DATR

:SET_UP FOR_NEXT COMPARISION
:SELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOCP

; TRANSMITTER LINE SPEED SELECTION TEST

s TRANSMIT 3 CHARACTERS AT A SELECTED SPEED ON LINE 1

:VERIFY THAT TRANSMITTER DONE OCCURS AT THE SELECTED SPEED
:VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

;AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV #340, PS ;DISABLE ALL INTERRUPTS

MOV #10, 1COUNT :SET UP FOR 10 ITERATIONS
MOV #58 | ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV #18 FREEZI :SET UP TO LOOP WITH DATA
MOV $17'RS sLINE 17 WILL ac 53
MOV #2000, RO ,co R SELECTION

s OF INITIRL (LOWEST) SPEED
MOV $15.R1 : 15 DIFFERENT spsgo§ WILL BE TESTED
MOV sl kq :BINARY CODE SPEED
MOV s-1.7 + INITIALIZE conpnnlsron VRLUE
MOV aax?11 aouscn :CLEAR INTERFACE
MOV J0HSCR :SELECT LINE 17 FOR TESTING
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1733
i
7%
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747

—
23
JO

EERRRRERE

1758

005602
00Se06
00S6 1M
00Se20
005624

005630
00Se36

005644
005650

00seSe
005656
005662

006020
006024
006030

006036
00&042

00S077
012777

010077
005067
00S067
012767
012777
005777

100412
00526;

012767
012767
012767
012767
012705
012700

005077
012777

010077
005067
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006020
177775

006004
006100
006076
000010
100000
005750
006046
006044

006040

008022

006006

002000 .

000015
000001
177777
004000
00S574
00557

17777

00SSe2
005656

006014

006072
005786

00e016

006002

172034
005716
00S704
00s700

00S710
005600

005572

cs:

38:

4s:

c$:

Tel:

18:

KO3

CLR JDH3A ;CLEAR BUS ADDRESS
MOV #-3, JDHBC :SET UP TO TRANSMIT
MOV RO, 3DHLPR gsLEcq LINE SPEED
CLR TIMER :CLEAR TRANSMITTER TIME TIMER
CLR TEHPI :SET UP NO CLOCK TIMER
MOV $10, TEMP2
MOV #100000, 3DHBAR :SET BAR BIT FOR LINE 17
:T0 START TRANSMISSION
ST JDHSCR *WAIT FOR TRANSMITTER
:TO FINISH
BMI 33
INC TIME2 :UPDATE TRANSMITTER TIMER
INC TEMPI sUPDATE NO CLOCK TIMER
BNE 2%
DEC TEMP2
BNE 2§
ng 53 s TRANSMITTER DID NOT FINISH, ERROR
CMP TIME2, TIMEL :VERIFY THAT TRANSMITTER
BLO 4§ WAS FASTER AT THIS SELECTED SPEED
: (NUMBER OF COUNTS IN TIMEZ2
:LESS THAN TIMEL)
HLT 2 I¥sgs?rrrsn TIMING ERROR FOR
SCOPE] :CHECK FOR FREEZE ON CURRENT DATA
MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
INC RY SELECT NEXT SPEED
ADD $2000, RO
DEC RI
BNE 18
SCOPE sCHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

: TRANSMIT 1 CHARACTERS AT A SELECTED SPEED ON LINE O
;VERIFY THAT RECEIVER DONE OCCURS.AT THE bELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

:AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 340, PS :DISABLE ALL INTERRUPTS

MOV #10, {COUNT :SET UP FOR 10 ITERATIONS
MOV 858 ESCAPE
MOV #18 FREEZI

:SET UP TO LOOP WITH

MOV 80, RS :LINE O WILL BE TESTED
MOV ualoo RO :CONSTANT FOR SELECTION
+OF INITIAL (LOWEST) SPEED
MOV $15,R1 :15 orrreaenr SPEEDS WILL BE TESTED
MOV sl hq 91 Y CODE FOR INITIAL SPEED
MOV s-1, 7  INITIALIZE conpnmsxon VALUE -
MOV oaxf11 aouscn :CLERR INTERFACE

sSELECT LINE O FOR TESTING

CE;RR BUS QDDRESS
RANSMIT

i1 CHRRRCTERS

iSELECT LINE SPEED

;CLEAR RECEIVER TIME TIMER

MOV RS, JDHSCR
CLR JDHBA
MOV #-1, JDHBC

MOV RO, 3DHLPR
CLR TIMER

;SET UP TO ESCAPE TO EEXT TEST
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1789 006046
790 00e0se

1793 006Ce6

1795 006072
- 1796 006074
- 1797 006{00

006
1799 006106
1800 0O6lle
1801 006114

2

1844 008310

005067
012767
012777

105777

00040S
026767
103401

104002

104410
016767
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001317
104400

012767
012767
012767
012767
012705
012700

012701
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005654
000010
000001

005526

005S6eM

. 00See2

00S616

00s600

00SSeH
002100

l
000co2
005304

005650
0OSS44

00S574

005560

171612
005474
BO05462
005456

005466
005356

005350

005426
005322

28:

3%:

4$:

cs:

Tee:

13:

c3:

LO3

CLR TEMPL :SET UP NO CLOCK TIMER
MOV 10, TEMP2
MOV #1, JDHBAR :SET BAR BIT FOR LINE O
+T0 START TRANSMISSION
TSTB  @DHSCR ‘WAIT FOR RECEIVER
+T0 FINISH
BMI 3%
INC TIME2 :UPDATE RECEIVER TIMER
INC TEMPI s UPDATE NO CLOCK TIMER
BNE 2%
DEC TEMP2
BNE 2%
ng %s sRECEIVER DID NOT FINISH, ERROR
CMP TIME2, TIMEL s VERIFY THAT RECEIVER
BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
cnunasn or counrs IN TIME2
- :LESS THAN TIMEL)
CHLT 2 RECEIHER TIMING ERROR FOR
SCOPE1 :CHECK FOR FREEZE ON CURRENT DATA
MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
INC RY :SELECT NEXT SPEED
ADD #2100, RO
DEC R1
BNE 13
SCOPE :CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

:TRANSMIT I CHARACTERS AT A SELECTED SPEED ON LINE 1
:VERIFY THAT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
:VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

:AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV £10, {COUNT :SET UP FOR 10 ITERATIONS
MOV #58 ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV 818 FREEZ! :SET UP TO LOOP WITH DATA
MOV 1, RS :LINE 1 WILL BE TESTED
MOV 2100, R0 :CONSTANT FOR SELECTION
*OF INITIAL (LOWEST) SPEED
MOV $15,R! +15 DIFFERENT SPEEDS WILL BE TESTED
MOV 81, RY :BINARY CODE FOR INITIAL SPEED
MOV s-1, TIMEL s INITIALIZE COMPARISION VALUE
MOV 881%11, 3DHSCR :CLEAR INTERFACE
MOV RS, JDHSCR :SELECT LINE 1 FOR TESTING
CLR JDHBA :CLEAR BUS ADDRESS
MOV #-1, JDHBC - :SET UP TO TRANSMIT
,1 CHARACTERS
MOV RO, 3DHLPR :SELECT LINE SPEED
CLR TIMER :CLEAR RECEIVER TIME TIMER
CLR TEMP] :SET UP NO CLOCK TIMER
MOV 810, TEMP2
MOV #2, JDHBAR :SET BAR BIT FOR LINE 1
:T0 START TRANSMISSION
TSTBE  JDHSCR :MAIT FOR RECEIVER
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J0S402

005400
- 005374

005356

00S342
002100

177777

00S116
00sza12
005210
000010
00000

00s0e2

00S160
00S156

005352

005336-

171370
00S2s2
005240

" 00S234
02

00Se44
00S134

00s126

005204
005100

3%:

48$:

Ss:

Te3:

18:

cs:

:T0 FINISH

BMI 3%

INO  TIMER2 :UPDATE RECEIVER TIMER

ING  TEMPI :UPDATE NO CLOCK TIMER

BNE . 28

DEC  TEWe

e I :RECEIVER DID NOT FINISH, ERROR
CMP - TIMER2, TIMEI ;VERIFY_THAT RECEIVER

BLO 4§ WAS FASTER AT THIS SELECTED SPEED
| tnunsen OF COUNTS”IN TIWE2

- 'LESS THAN TIMEL)

s R%CEIYER TIMING ERROR FOR

SCOPE] :CHECK FOR FREEZE ON CURRENT DATA
MOV TIME2, TIMEI tSET UP FOR NEXT COMPARISION

INO R4 :SELECT NEXT SPEED

ADD0  #2100,RO

DEC Rl

BNE 1§

SCOPE * . ;CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT 1 CHARACTERS AT A SELECTED SPEED ON LINE 2

s VERIFY THAT RECEIVER DONE OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF ‘TIME TAKEN IS LESS

;AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV #10, 1COUNT :SET UP FOR 10 ITERATIONS
MOV #5§, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV c1s FREEZI SET UP TO LOOP WITH DATA
MOV 2.RS :LINE 2 UILL BE TESTED
MOV caluo RO :CONSTANT FOR SELECTION

:OF INITIAL (LOWEST) SPEED
MOV $15,R1 :1S DIFFERENT SPEEDS WILL BE TESTED
MOV 81 hq :BINARY CODE FOR INITIAL SPEED
MOV 8-1.7 INITIR%I%E conpnn:sxon VALUE
MOV 391111 aouscn
MOV RS, aDHSCR :SELECT LINE a FOR TESTING
CLR JDHBA :CLEAR BUS ESS
MOV $-1, aDHBC ser UP TO rnnnsnxr

1 CHARACTERS

MOV RO, JDHLPR .:ELECT LINE SPEED
CLR TIMER :CLEAR RECEIVER TIME TIMER
CLR TEMPI sSET UP NO CLOCK TIMER
MOV 10, TEMP2
MOV - #4,JDHBAR :SET BAR BIT FOR LINE 2

+T0 START TRANSMISSION
TSTB  JDHSCR 'WAIT FOR RECEIVER

* .y :T0 FINISH

BMI 3%
INC TIME2 :UPDATE RECEIVER TIMER
ésg ggnpx :UPDATE NO CLOCK TIMER - -
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0osise

00S134

005120
002100

004674
004770
004766

.000010

000010
004640
004736
004734
004730

004712

005130

00S114

171146
005030
00S016
00s0le2

005022
004712

004704

004762
004656

004706

3%:

4$:

5s:

TeH:

1%:

cs:

3%:

DEC  TEMP2

BNE 2§

HLT 1

BR 4§

CMP  TIME2, TIMEI
BLO 4§

HT 2

SCOPE1

MOV TIME2, TIMEI
INN  RY

ADD  #2100,R0
DEC  RI

BNE 1§

SCOPE

;RECEIVER DID NOT FINISH, ERROR
; VERIFY THAT RECEIVER

:WAS FASTER AT THIS SELECTED SPEED

: (NUMBER OF COUNTS IN TIMEZ2
sLESS THAN TIMEL)
:RECEIVER TIMING ERROR FOR

sLINE 2
s CHECK_FOR FREEZE ON CURRENT DATA

sSET UP FOR_NEXT COMPARISION
sSELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

; TRANSMIT I

1 CHARACTERS AT A SELECTED SPEED ON LINE 3

;VERIFY THAT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
:AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV #340,PS

MOV %10, ICOUNT
MOV #5§ . ESCAPE
MOV cxs FREEZ!
MOV 3RS :LINE 3
MOV oaloo RO
MOV $15,R1
MOV 81 hq
MOV 8-1,TIMEL
MOV caIfll JDHSCR
MOV JDHSCR
CLR ao a
MOV #-1, JDHBC
MOV n? ADHLPR
CLR MER
CLR TEMPI
MOV #10, TEMP2

- MOV 410, IDHBAR
TSTu  @DHSCR
BMI 3
INC TIMER
INC TEMPI
BNE 2§
DEC TEMP2
BNE 2§
HLT {
BR i
CMP TIMCZ, TIME]

:DISABLE ALL INTERRUPTS
:SET UP FOR 10 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST
:SET UP TO LOOP WITH DATA
WILL BE TESTED

:CONSTANT FOR SELECTION

sOF INITIAL (LOWEST) SPEED

:15 DIFFERENT SPEEDS WILL BE TESTED

sBINARY CODE FOR INITIAL SPEED
s INITIALIZE COMPARISION VALUE
sCLEAR_INTERFACE

SELECT LINE 3 FOR TESTING

ERR B¥g TRQNSHIT

1 CHARACTERS
SE ECT LINE SPEED
;CLEAR RECEIVER TIME TIMER

;SET UP NO CLOCK TIMER
;SET BAR BIT FOR LINE 3
:TO_START TRANSMISSION
sWAIT FOR RECEIVER

:T0 FINISH

;UPDATE RECEIVER TIMER
;UPDATE NO CLOCK TIMER

;RECEIVER DID NOT FINISH, ERROR
; VERIFY THRT RECEIVER
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004676
002100

004672

170724
CJ46C6
CO4S74

004570

00460C
004470

004482

0O4SHO

OONN3H

OCH4EH

43:

cs8:

T2S:

18:

28:

33:

BO4

BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
: (NUMBER 0OF ﬂounrs IN TIMED
sLESS THAN TIMEL)

HLT 2 R%ggxgsn TMING ERFOR FOR

SCOPE! :CHLUK FOR FREEZE CN CURRENT CATA

MOV TIME2, TIME! :SET UP FOR NEXT COMPARISION

INC RY +SELECT NEXT SPEED

ADD 82100,R0

DEC Rl

BNE 1§

SCOPE +CHECK FOR ITERATIONS, LOOP

RECEIVER LINE SPE ED SELECTION TEST

:TRANSMIT | CHARACTERS AT A SELECTED SPEED ON LINE 4

‘VERIFY THAT RECEIVER DONE OCCURS AT THE SELECTED SPEED

:vepxrv THAT THE AMOUN gr TIME TAKEN ?

AT THIS SPEED THAN qr HE PREVIOUSLY SELEC ED SPEED

MOV 8340, PS :DISABLE ALL INTERRUPTS

MOV 210, 1COUNT :SET UP FOR 10 ITERATIONS

MOV 858 ESCAPE :SET UP TO ESCAPE TO NEXT TEST

MOV 818 FREEZ! :SET UP TO LOOP WITH DATA

MOV #4, RS :LINE 4 WILL BE TESTED

MOV oaloc RO : CONSTANT FOR SELECTION

:OF INITIAL (LOMWEST) SPEED

MOV 8.5,Rl :15 DIFFERENT SPEEDS WILL BE TESTED

MOV 8], Ry :3INARY CODE FOR INITIAL SPEED

MOV s-1 TIMEL :INITIALIZE COMPARISION VALUE

MOV saxtxx SOMSCR :CLERR INTERFACE

MOV RS, JOHSCR :SELECT LINE 4 FOR TESTING

CLR aDHBA :CLEAR BUS ADDRESS

MOV $-1,30H3C :SET UP TO TRANSMIT

:1 CHARACTERS

MOV RO, S04LPR :SELECT LINE SPEED

CLR TIMER :CLEAR RECEIVER TIME TIMER

CLR TEHPI :SET UP NO CLOCK TIMER

MOV 810, TEMP2

MOV 220, 30HBAR :SET BAR BIT FOR LINE 4
70 START TRANSMISSION

TSTE  JOHSCR unxr FOR RECEIVER

FINISH

BM] 23

INC TIME2 :UPDATE RECEIVER TIMER

ING TEMP] :UPDATE NO CLOCK TIMER

BNE 23

DEC TEMP2

BNE 23 ﬁ

EET as :RECEIVER DID NOT FINISH, ERROR

CHP TIME2, TIMEL :VERIFY THAT RECEIVER

BLO 4§ ‘WAS FASTER AT THIS SELE “ED SPEEC
; (NUMBER OF ccuurs IN TIMZ3
:LESS THAN TIMEL)

HLT z

ECEIVER TIMING ERROR FOS
:LINE ¥
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OC44SH
002100

004232
002100

SCOPEL +CHECK FOR FPEEZE ON CURRENT DATA
004450 MOV TIME2, TIMEL sgr UP FOR NEXT COMPARISION
INC RY SELECT NEXT SFZED
ADD 2100, R0
B
g§: SCOPE :CHECK FOR ITERATIONS, LOOP
:RECEIVER LINE SPEED SELECTION TEST
s TRANSMIT | CHARACTERS AT A SELECTED SPEED ON LINE S
' VERIFY runr RECEIVER DCNE OCCURS AT THE SELECTED SPEED
*VERIFY THAT THE AMOUN JF TIME TAKEN IS LESS
AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
170502 T26: MOV :DISABLE ALL INTERRUPTS
004364 MOV 010 iCOJNT :SET UP FOR 10 ITERATIONS
004352 MOV 85§, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
0043496 MOV uxs FREEZI] :SET UP TO LOOP WITH DATA
MOV 5 RS HLLL BE TESTED
MOV -aluo RO -CONSTANT FOR scn.scnon
:0F INITIAL (LOWEST) 2
MOV $15,R! :15 DIFFERENT SPEEDS WILL as TESTED
MOV 81 RY :BINARY CODE FOR INIT
004356 MOV s-1 TIME .INITIHLIZE COMPARRISION VALUE
004246 1§: MOV nexfxx acqs»n :CLEAR INTERFACE
MOV RS, S0HSCR :SELECT LINE 5 FOR TESTING
CLR 3DHBA :CLEAR BUS ADDRESS
004240 MOV 8-1, 3DHBC :SET UP TO TRANSMIT
:1 CHARACTERS
MOV RO, SOHLPR :SELECT LINE SPEED
L TIME2 :CLEAR RECEIVER TIME TIMER
| CLR TEMP] :SET UP NO CLOCK TIMER
004316 MOV 810, TEMP2
. 004212 MOV 40, 30HBAR sev BAR BIT FOR LINE S
T3 START TRANSMISSION
2§: . . TSTB  JDHSCR ‘WAIT FOR RECEIVER
:TO FINISH
BMI 3%
CINC TIME2 :UPDATE RECEIVER TIMER
INC TEMPI :UPDATE NO CLOCK TIMER
BNE 28
DEC TEMP2
BNE 25
EkT 55 RECEIVER DID NOT FINISH, ERROR
O04242. 3%: CMP TIME2, TIMEL :VERIFY THAT RECEIVER
BLO 4§ *WAS rnsrsn nr ruxs SELEC’ED SPEED
. <nuna§n TINES
HLT 2 nscax;sn rxnxnc ERROR FOR
4§: SCOPE cu;cx FOR rnse?s ON CURRENT DATA
004226 MOV TIME2, TIMEL COMPRRISION
INC RY +SELECT NEXT SPEED
ADD $2100,R0
DEC Rl
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Q01317
104400

0S
026767
103401
104002

104410
016767

063)
00530

1
00Lz17
104400

DO4

18

;CHECK FOR TTERATIONS, LOCP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT 1

CHARACTERS AT A SELECTED SPEED ON LINE &

s VERIFY THRT RECEIVER DONE_OCCURS AT THE SELECTED SPEED

: ?RIFY THAT THE AMOUN OF TI
;AT THIS SPEED THAN AT THE P

10-MAY-76  10:46 PAGE 43
BNE
S§:  SCOPE
000340 170260 T27: MOV
000010 004142 - MOV
007730 004130 MOV
007566 004124 MOV
00000 MOV
002100 MOV
000015 MOV
000001 MOV
177777 004134 MOV
004000 004024 1S: MOV
004020 MOV
004022 CLR
177777 004016 MOV
004006 MOV
00412 CLR
004100 CLR
888068 4074 MOV
1 3770 MOV
002752 25: 1578
BM]
004050 INC
004046 INC
BNE
004042 DEC
BNE
HLT
8]
004024 004020 35:  CMP
BLO
HET
4§:  SCOPEI
004010 0OHO0H ROV
002100 ADD
DEC
BIE
S§:  SCOPE

oxo icounr
%85S ESCAPE
:xshrnsszx

S
oelou RO

TIME]
|BI?11 JDHSCR

RS, JDHSCR
JDHBA
#-1,d0HBC

RO, JDHLPR
7 hEDHL

8OT "ﬁgna

JDHSCR
33
TIME2
TEMP]
4 ]
TEMP2
TS

4§
TIME2, TIME!
48

e

;anEE,YIHEl
#210C,R0

Rl

1§

EEVIOUELY SELEC?ED SPEED

DISRBLE gkL INTERRUPTS
UP FOR 10 ITERATIONS
SET UP 70 ESCAPE T0 NEXT TEST
:SET UP TO LOOP WITH DA
WILL BE ESTED-

£
IFFERENT SPEEDS WILL BE TESTED
NARY CODE FOR INITIAL SPEED
RAQ%IZERCOHPQRISION VALUE

OratDre
MH

SELECT LINE SPEED
sCLEAR RECEIVER TIME TIMER
:SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE &
:T0_START TRANSMISSION
NﬂIT FOR RECEIVER

; 7O FINISH

:UPDRTE RECEIVER TIMER
;UPDATE NO CLOCK TIMER

;RECEIVER DID NOT FINISH, ERROR

; VERIFY THAT RECEIVER

:MAS FASTER AT THIS SELECTED SPEED
: (NUMBER OF COUNTS IN TIME2

s LESS TIMELD)

REgEIZER TIMING ERROR FOR

;CHECK FOR FREEZE ON CURRENT DATR

:SET_UP FOR NEXT COMPARISION
:SELECT NEXT SPEED

b .-.

;CHECK FOR ITERARTIONS, LOCP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT 1

CHARACTERS AT R SELECTED SPEED ON LINE 7




EO4

OZDHD PFH@CYII 27(732) 10-MAY-T& 10:46 PAGE WM

DZDHDC.
2125 :VERIFY THAT RECEIVER DONE OCCURS AT THE SELECTED SPEED
2128 v;n*rv THAT rng AMOUN gr T;ME TAKEN gE E ?
SiSQ HIS SPEED THAN AT THE PREVIOU LY LECTED SPEED
aéae oo;zaa oxara; 000340 170036 T30: nov 2340, PS DI?RE%EFﬂkL xnrsggggrsN
L 3] { { {
si90 835548 BiscR? gToned gBdrsl mv  w.deom 13T P 7O eCaPET0 NEXT TEST
2%35 oa;;Fq nia;s7 010019 003702 nog cxshrnsszx ine 3 ﬂ?fl UP TO LOOP WITH DATA
’ H
51 3877£E strlﬁ 389?80 n3v :2103 RO consgsnr ?05 SELECTION
2135 :OF INITIAL (LOMEST) SPEED
2136 007?72 012701 000015 MOV #15,R1 : 15 DIFFERENT spesos WILL BE TESTED
2137 007776 012704 000001 MOV 81, RY aznnav cooe FOR INITIAL SPEED
2138 01 012767 6077777 003712 MOV e-1, TIMEL +INITI %E commxsxon VALUE
2139 018355 012777 00N000 003602 18§: MOV oaxt11 JDHSCR :CLEAR IN
2140 010016 010577 003576 MOV RS, 2DHSCR :SELECT LINE 7 ron TESTING
2141 010022 00S077 003600 s CLR JDHBA :CLEAR BUS ADDRESS
2l¥2 010026 012777 177777 003574 MOV #-1, JDHBC :SET UP TO TRANSMIT
2143 :1 CHARACTERS
2144 010034 010077 003564 MOV RuthHLPR SELECT LINE SPEED
2145 010040 005067 003660 CLR CLEAR RECEIVER TIME TIMER
2146 010044 00S0&7 003656 CLR TEMP] ssr UP NO CLOCK TIMER
2147 0100S0 012767 000010 003652 MOV 10, TEMP2
2148 010056 012777 000200 003546 MOV 8200, DHEAR -SET BAR BIT FOR LINE 7
2148 170 START TRANSMISSION
2150 010084 105777 003530 2s: TSTE  2DHSCR :WAIT FOR RECEIVER
2151 :TO FINISH
2152 010070 100412 BMI 33
2153 010072 00S267 003626 INC TIMER2 : UPDATE RECEIVER TIMER
2154 010076 00S267 003624 INC TEMP] :UPDATE NO CLOCK TIMER
2185 010102 001370 BNE 2§
2156 010i04 005367 003620 DEC TEMP2
2157 010110 0013&S BNE 2§
2158 010112 104001 HLT 1 :RECEIVER DID NOT FINISH. ERROR
2183 010114 0OON0S BR 4§
2160 010ile 026767 003602 003576 38: CMP TIME2, TIMEL vsnxrv THAT RECEIVER
2161 010124 103401 BLO 4§ smmmmmmmmmm
2162 NUMBER OF coums IN TIME2
2163 LESS THAN TIMEL)
Sigg 010126 104002 HLT 2 nschvsn TIMING ERROR FOR
2166 010120 104410 4§: SCOPE] :CHECK FOR FREEZE ON CURRENT DATA
2167 010132 016767 003566 003562 MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISION
2168 0I0140 00S204 INC RY :SELECT NEXT SPEED
2169 010i42 062700 002100 ADD $2100,R0
2170 010146 005301 DEC Rl
2171 010is0 001317 BNE 18
gizg 0i0iS2 104400 c§: SCOPE :CHECK FOR ITERATIONS, LOOP
{
2174 RECEIVER LINE SPEED SELECTION TEST
2175 :TRANSMIT I CHARACTERS AT A SELECTED SPEED ON LINE 10
2178 ‘VERIFY THAT RECEIVER DONE OCCURS AT THE SELECTED SPEED
2177 *VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS
Sf;g AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED
2180 010154 012767 000340 167614 T31: MOV #340,PS :DISRBLE ALL INTERRUPTS
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2181 010162 012767 000DLO 003:?3 M #10, ICOUNT +SET UP ronsxo nsnmrogsTa i
{ ]

£185 BiBlZR Bisck? Big3%d BB3iEs VR iah] U6 18 E3BPRLI0 Ml
2184 010204 012705 000010 - MOV 810 ns :LINE 10 uxu.ae ;3 gE
gxg 010210 012700 002100 MOV 22100,R ?mm R LECTION
S185 pioely 012701 I5 MV 1S, R1 ?F ONFFERENTCPEEDS WILL BE TESTED
2188 818550 315;84 J001 MOV m ?m& 55 ?nn SPEED
2189 010224 012767 177777 003470 MOV ME 1 nu n&m.xzs commxsron VALUE
2190 010232 0127772 004000 003360 1§: MOV oax'ru JDHSCR ' CLE RFACE
2181 010240 (010577 0033%4 . | MOV JDHSCR +SELECT LINE 10 FOR TESTING
2192 010244 005077 003356 . CLR aoh :CLEAR BUS ADDRESS
2183 010250 012777 177777 003352 MOV -1, aonec :SET UP TO TRANSMIT
2194 - :1 CHARACTERS
2135 010256 010077 003342 MOV RO, 3DHLPR :SELECT LINE SPEED
2136 010262 00S067 003436 CLR TIME2 :CLEAR RECEIVER TIME nnen
2197 010266 005067 003434 CLR TEMP] :SET UP NO CLOCK TIMER
2198 010272 012767 000010 003430 MOV 810, TEMP2 -
2199 01 012777 000400 003324 MOV 400, 3DHBAR ~ ;SET_BAR BIT FOR LINE 10
2200 | :T0 START TRANSMISSION
2201 010306 105777 003306 28: TSTB  aDHSCR ‘WAIT FOR RECEIVER
2202 :TO FINISH
2203 010312 100412 BMI - -
2204 010314 00S267 003404 INC TIME2 :UPDATE RECEIVER TIMER
2205 010320 005267 003402. ING TEMP] :UPDATE NO CLOCK TIMER
2206 010324 001370 BNE 2%
2207 010326 003376 DEC TEMP2 ,
2208 010332 00136S . BNE 23 .,
2209 010334 104001 HLT 1 :RECEIVER DID NOT FINISH, ERROR
2210 01033 (000405 BR . 4g w48
2211 010340 026767 003360 003354 38: CMP TIME2, TIMEL :VERIFY THAT RECEIVER
2212 010346 103401 1 BLO 4§ :WAS FASTER AT THIS SELECTED SPEED
2213 : : (NUMBER OF coums IN TIMEZ
2214 _ :LESS THAN TIMEL)
ggig 010350 104002 . HLT 2 “’fﬁE”{E" TIMING ERROR FOR
2217 010352 104410 48 SCOPE1 :CHECK FOR FREEZE ON CURRENT DATA
2218 010354 016767 003344 003340 MOV TIME2, TIMEL :SET UP FOR NEXT COMPARISTON
2219 (010362 00S204 INC RY :SELECT NEXT SPEED
2220 010364 062700 002100 ADD #2100,R0
2221 010370 00S301 DEC Rl
202 010372 001317 BNE 18 :
2223 010374 104400 5§: SCOPE :CHECK FOR ITERATIONS, LOOP.
aa:es;“EE - :RECEIVER LINE SPEED SELECTION TEST
2226 : TRANSMIT 1 CHARACTERS AT A SELECTED SPEED ON LINE 11l
2227 ‘VERIFY THAT RECEIVER DONE OCCURS AT THE SELECTED SPEED
2c28 :VERIFY THQT THE AMOUN OF TIME TAKEN IS LESS
5553 ‘AT THIS S "ED THAN NT THE PREVIOUSLY SELECTED SPEED
2231 010376 012767 000340 167372 T32: MOV $34L :DISABLE ALL INTERRUPTS
2232 010404 012767 000010 003254 MOY 810, 1o JNT :SET UP FOR 10 ITERATIONS
2233 DI0412 012767 010ele 003242 MOV 858 ESCAPE :SET-UP TO ESCAPE TO NEXT TEST
2234 010420 012767 010454 003236 MOV #18, FREEZ] sSET UP TQ LOOP WITH DATR
2235 010426 (012705 000011 MOV 811 RS sLINE 11 WILL BE TESTED
2236 010432 012700 002100 MOV 22100, R0 ~“:CONSTANT FOR SELECTION
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000015

999983 nosoue
004000 003136
003132

003134

177777 003130
003120

003214

003212

000010 003206
001000 003102
003064

003162

003160

003154

003136 003132
003122 003116
002100

000340 167150
000010 003032
011040 003020
010676 003014
000012

002100

000015

000001

177777 003024
004000 002714

18:

2s:

43:

cs:

T33:

MOV

MOV
OV
MOV
MOV

CLR -

HLT

SCOPEL

D% 0
AL

GO4

l15 Rl

u-l TIHEl
#81}11, JDHSCR
RS, JDHSCR
aoﬂan

#-1, JDHBC

RO, JDHLPR
TIME2

TEMPI

10, TEMP2

#1000, 3DHBAR

JDHSCR
3%
TIME2
TEMPL
c3
TEMP2

41
1

43
TIME2, TIME!
48

s

TIME2, TIME!
#2100,R0

CCURS H
ME TAKEN I

;OF INITIAL (LOWEST) SPEED
éS DIFFERENT SPEEDS WILL BE TESTED

T ST
SEEECT LINE 11 FOR TESTING
:CLEAR BUS ADDRESS

:SET UP TO_TRANSMIT

;1 _CHARACTERS

:SELECT LINE SPEED

:CLEAR RECEIVER TIME TIMER
sSET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 11
;TO START TRANSMISSION
NRI;IF?SHRECEIVER

; UPDATE RECEIVER TIMER

: UPDRTE NO CLOCK TIMER

;RECEIVER DID NOT FINISH, ERRCR

; VERIFY THAT RECEIVER

:MAS FASTER AT THIS SELECTED SPEED
: (NUMBER OF COUNTS IN TIMEZ

sLESS THAN TIMEL)

RECEIVER TIMING ERROR FOR

sLINE 11
s CHECK_FOR FREEZE ON CURRENT DATA

:SET _UP FOR_NEXT COMPARISION
:SELECT NEXT SPEED

;CHECK FOR ITERATIONS, LOOP

LINE SPEED SELECTION TEST

1 _CHARACTERS AT A SELECTE? ?ﬁEED ON LINE 12
HAT RECEIVER DONE
VERIFY THRT THE AMOUN OF

SELECTED SPEED

sAT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

340, PS

£10, 1COUNT
58, ESCAPE
oxs rnsszx

uaxbo RO

El
calfxx,aousca

;DISABLE ALL INTERRUPTS

:SET UP FOR_10 ITERATIONS

SET UP TO ESCAPE TO NEXT TEST
UP TO LOOP WITH DATA

:SET
sLINE 12 gILL BE_TESTED

ONSTANT FOR SELECTIgg

AR
.INITIRLIZE COMPRRISION VALUE
;CLEARR INTERFACE
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Q10877
005077
012777
010077
00S067
005067
012767
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108777
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001370
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002710
002712

177777 002706
002676
002772
002770 |
000010 002764
002000 002660
002642

002740

002736

072732

002714 002710
002700 002674
002100

000340 166726
000010 002610
011262 002576
011120 00257
000013

002100

000015

000001

177777 002602
004000 002472
002466

002470

177777  00246M
002454

2s:

3%:

48:

Ss:

T34:

18:

MOV RS, 3DHSCR :SELECT LINE 12 FOR TESTING
CLR a04BA ,CL%RR BUS ADDRESS
MOV #-1, JDHBC ; SE

11
MOV RO, JDHLPR *SELECT LINE SPEED
CLR TIME2 sCLEAR RECEIVER TIME TIMER
SLR TEMP :SET UP NO CLOCK TIMER

MOV 10, TEMP2
MOV 2000, JDHBAR :SET BAR BIT FOR LINE 12
:T0 START TRANSMISSION

TSTB JDHSCR sMAIT FOR RECEIVER
:TO FINISH

8MI 3%

INC TIME2 ;UPDATE RECEIVER TIMER

INC TEMPL sUPDATE NO CLOCK TIMER

. BNE e3

DEC TEMP2

BN 4

gk %S ;RECEIVER DID NOT FINISH, ERROR

CMP TIME2, TIMEL VERIFY THAT RECEIVER

BLO 48 WRS FASTER AT THIS SELECTED SPEED
(NUHBER OF COUNTS IN TIME2
sLESS T TIMEL)

HLT [ R%gEIVER TIMING ERROR FOR

SCOPEL sCHECK FOR FREEZE ON CURRENT DATA

MOV TIME2, TIMEL sSET UP FOR NEXT COMPARISION

INC RY ;SELECT NEXT SPEED

ADD #2100, R0

DEC R1

BNE 18

SCOPE ;CHECK FOR ITERATIONS, LOCP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT 1 CHARACTERS AT A SELECTED SPEED ON.LINE 13.
sVERIFY THAT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
:VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

sAT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV $340,PS :DISABLE ALL INTERRUPTS
MOV #10, 1COUNT iSET UP FOR 10 ITERATIONS
MOV #58 ESCAPE - :SET UP TO ESCAPE TO NE¥T TEST

MOV us FREEZI :SET UP TO LOOP WITH DATA
MOV $13'RS :LINE 13'WILL BE TESTED
MOV ua1bn RO :CONSTANT FOR SELECTI
:OF INITIAL (LOWEST)
MOV $15.R1 +15 DIFFERENT SPEEDS WILL BE TESTED
MOV #1 RY :BINARY CODE FOR INITI
MOV s-1, TIMEL *INITIALIZE COMPARISION VALUE
MOV 331111 JDHSCR - +CLEAR INTERFACE
MOV RS, aDHSCR :SELECT LINE 13 FOR TESTING
CLR JDHBA sCLEAR BUS ADDRESS

iSET UP TO TRANSMIT
i1 CHARACTERS
iSELECT LINE SPEED

MOV #-1,d0HBC
MOV RO, dDHLPR
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2343 011150
5 B
2353
e3sM OL11?AM
2355
€356 011200
€357 0lle0e
2358 011206
359 0llele
€360 O0llgld
e3bl 0lle2z20
e3b2 (Olleee
2363 Ollged
e3b4 011226
2365 011234
2366
2367
2368 011236
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002550
002546

385808

002420

002516
002S1M
002510

002472

002456
002100

BBEG3E

002466

002452

166504

002366
002354

002350

002360
002250

002242

002320

002214

1

38:

4s:

Ss:

T3S:

18:

CLR

SCOPE

- I04

TIME2
TEMP]

24800 Sbfens

DHSCR
3
TIMER
TEMPI
28
TEMP2
2§

4§

TIME2, TIMEL
4§

e

TIME2, TIMEL
RY

$2100,R0

Rl

;CLEAR RECEIVER TIME TIMER
;SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 13
+70 START TRANSMISSION
:WAIT FOR RECEIVER .

: 70 FINISH .

; UPDATE RECEIVER
sUPDATE NO CLOCK

IHE
TIMER

;RECEIVER DID NOT FINISH, ERROR
; VERIFY THAT RECEIVER
:WAS FASTER AT THIS SELECTED SPEED
,xNUHBER OF COUNTS IN TIME2
LESS THAN TIMEL)
R%CEIVER TIMING ERROR FOR
;CHECK FOR FREEZE ON CURRENT DATA

:SET_UP FOR NEXT COMPARISION
;SELECT NEXT SPEED

:CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

: TRANSMIT I CHARACTERS AT A SELECTED SPEED ON LINE 14
:VERIFY THAT RECEIVER DUNE OCCURS AT THE SELECTED SPEED
s VERIFY THAT THE AMOUN OF

;AT THIS SPEED THRN RT THE PREVIOUSLY SELECTED SPEED

MOV
MOV
MOV
MOV

340, PS
810, COUNT
#58, ESCAPE
18 FREEZI
$14'RS
2100, R0

ME1

191?11 JDHSCR
S, JDHSCR

aoﬁan

#-1, JDHBC

RO, 3DHLPR
TIMER

TEHPI

810, TEMP2
10000, aDHBAR

TIME TRAKEN IS LESS

;DISABLE ALL INTERRUPTS

;SET UP FOR 10 ITERATIONS

;SET UP TO ESCAPE TO NEXT TEST

;SET UP_TO LOOP WITH DARTA

LL _BE _TESTED

NSTANT FOR SELECTION

NITIAL (LOWEST) SPEED

IFFERENT SPEEDS WILL BE TESTED
INRRY CODE FOR INITIAL SPEED
EE&R%I¥E COMPARISION VALUE

'SET UP NO CLOCK TIMER

:SET BAR BIT FOR LINE 14
:T0 START TRANSMISSION
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1058777
100412
7

4
00137C
005367
001365
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6767
103401
104002

104410
016767
04
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062700
005301
001317
104400

105777
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005267
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002176

Bgeas

002266

002250

002234
002100

000340
000010

001754

002052
002050

002244

002230

1562&2

002136
002026

002020

002076
001772

2s:

3%:

48:

c§:

T3E:

18:

28:

JO4

TST8  GDHSCR ;HATT FOR RECEIVER
:T0 FINISH
BMI 3§
NG TIngs ;UPDATE RECEIVER TIMER
N6 TEMPI 'UPDATE NG CLOCK TIMER
BNE 28 |
DEC  TEMP2 |
BN 2s
He i ;RECEIVER DID NOT FINISH, ERROR
Cp TIME2, TINEL ;VERIFY THAT RECEIVER
BO 4 'WAS FASTER AT THIS SELECTED SPEED
: (NUMBER OF (COUNTSIN TINE2
T 2 E?ﬁEIYE“ TIMING ERROR FOR
SCOPE! :CHECK _FOR FREEZE ON CURRENT DATA
MOV TIME2,TIMEL :SET UP FOR NEXT COMPARISION
INN R4 :SELECT NEXT SPEED
ADD  #2100,R0
DEC Rl
BNE 1§
SCOPE ;CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST :
; TRANSMIT I CHARACTERS AT A SELECTED SPEED ON LINE 15
iVERIFY THAT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME TAKEN

;AT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV ¢10, ICOUNT :SET UP ron 10 TERA
MOV #58, ESCAPE ,se UP T TO nsxr TEST
MOV #18 FREEZI :SET UP ro LOOP WITH DATA
MOV 15 RS :LINE 15 WILL BE TESTED
MOV 2100, RO s CONSTANT FOR smcnon
:OF INITIAL (LOWEST) SPEED
MOV $15,R1 :15 DIFFERENT SPEEDS WILL BE TESTED
MOV #1,RY ,axunnv CODE FOR INITIAL SPEED
MOV s-1 TIMEL Jm IALIZE COMPARISION VALUE
MOV #81t11, aDHSCR :CLEAR INTERFACE
MOV RS, JDHSCR sSELECT LINE 1S FOR TESTING
CLR JDAHBA s§§ *3 ADDRESS
MOV #-1, JDHBC UP TO TRANSMIT
31 CHARACTERS
MOV RO, 3DHLPR 'SELECT LINE SPEED
CLR TIMER :CLEAR RECEIVER TIME TIMER
CLR TEMPI :SET UP NO CLOCK TIMER
MOV 10, TEMP2
MOV 20000, J0HBAR :SET BAR BIT FOR LINE 15
:T0 START TRANSMISSION
TSTB  JDHSCR unxrlr?g RECEIVER
BMI 3%
INC TIME2 :UPDATE RECEIVER TIMER
INC TEMP] :UPDATE NO CLOCK TIMER
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002044

002026

002012
002100

0Cie30
00162k

-001622

BNE 23

DEC TEMP2

BNE 2%

EhT &S ;RECEIVER DID NOT FINISH, ERROR

CMP TIME2, TIMEL ; VERIFY THAT RECEIVER

BLO 4$ sWAS FASTER AT THIS SELECTED SPEED
; (NUMBER OF COUNTS IN TIMEZ
sLESS THAN TIMEL)

HLT e RECEIYER TIMING ERROR FOR

SCOPE! ;CHECK FOR FREEZE ON CURRENT DATA

MoV TIME2, TIMEL iSET UP FOR NEXT COMPARISION

INC RY ;SELECT NEXT SPEED

ADD #2100,R0

DEC R1

BNE 18

SCOPE L ;CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT I CHARACTERS AT A SELECTED SPEED ON LINE 16

s VERIFY THﬂT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
:VERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

tAT THIS ‘SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV $340, PS sDISABLE ALL INTERRUPTS
MOV £10, LCOUNT :SET UP FOR 10 ITERATIONS
MOV %58, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV QIS rnssz1 :SET UP TO koop WITH DATA
MOV ;LINE 16’ "WILL BE TESTED
MOV aaxbo RO :CONSTANT FOR SELECTION
:OF INITIAL (LOWEST) SPEED
MOV #15,R! 15 g&rrsaenr 3EE§DS WILL BE TESTED
MOV #1,RY NITIAL SPEED
MOV s-1, TIMEL INITIRLIZE COMPARISION VALUE
MOV 191111 JDHSCR :CLEAR INTERFACE
MOV RS, JDHSCR :SELECT LINE 16 FOR TESTING
CLR JDHBA :CLEAR BUS ADDRESS
MOV #-1, JDHBC :SET UP TO TRANSMIT
:1 CHARACTERS
MOV RO aoHLPR :SELECT LINE SPEED
CLR TIME2 s CLEAR RECEIVER TIME TIMER
CLR rsnpx - ‘ :SET UP NO CLOCK TIMER
MOV 810, TEMP2
MOV #40000, 30HBAR :SET BAR BIT FOR LINE 16
:T0 START TRANSMISSION
TSTB  JDHSCR unxT FOR RECEIVER
:TO FINISH
BMI 3%
INC TIMER :UPDATE RECEIVER TIMER
INC TEMP] :UPDATE NO CLOCK TIMER
BNE 2%
DEC TEMP2
BNE 2§
EET &s :RECEIVER DID NOT FINISH, ERROR
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026767
103401

104002
104410
016767
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00S301
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104400
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001604 001600 38:

301570
002100

000010
100000

001310
001406
001404
001400

001362

001564

165616
001500

001472
001362

001354

001356

4s:

cs:

T40:

1%:

cs:

3%:

CMP TIME2, TIMEL VERIFY THAT RECEIVER

BLO 4$ WAS FRSTER ﬂT THIS SELECTED SPEED
(NgﬂB;R OF 1TS IN TIMEZ

HLT e R%CEIVER TIMING ERROR FOR

SCOPEL sCHECK _FOR FREEZE ON CURRENT DATA

MOV TIME2, TIMEL ;SET_UP FOR_NEXT COMPARISION

INC RY ;SELECT NEXT SPEED

ADD #2100,R0

DEC Rl

BNE 1$

SCOPE ;CHECK FOR ITERATIONS, LOOP

;RECEIVER LINE SPEED SELECTION TEST

s TRANSMIT 1 CHARACTERS AT A SELECTED SPEED ON LINE 17
sVERIFY THAT RECEIVER DONE_OCCURS AT THE SELECTED SPEED
sVERIFY THAT THE AMOUN OF TIME TAKEN IS LESS

sAT THIS SPEED THAN AT THE PREVIOUSLY SELECTED SPEED

MOV #340, PS :DISABLE ALL INTERRUPTS
MOV #10, LCOUNT :SET UP FOR 10 ITERATIONS
MOV %58 ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV s1s rn5521 :SET UP TO LOOP WITH DATA
MOV RS sLINE 17"WILL BE TESTED
MOV salbo RO :CONSTANT FOR SELECTION

:0F INITIAL (LOWEST) SPEED

MOV 115 R1 115 DIFFERENT SPEEDS WILL BE TESTED
MOV 1,RY :BINARY CODE FOR INITIAL SPEED

MOV s-l TIMEL *INITIALIZE COMPARISION VALUE

MOV #81t11, aDHSCR :CLEAR INTERFACE

MOV RS, IDHSCR SELECT LINE 17 FOR TESTING

CLR JDHBA :CLEAR BUS ADDRESS

MOV #-1, aDHEC

SET UP TO TRANSMIT
1 CHARACTERS

MOV RO, aDHLPR SELEC LINE SPEED
CLR TIMER2 :CLEAR RECEIVER TIME TIMER
535 rsnpx +SET UP NO CLOCK TIMER

;SET BAR BIT FOR LINE 17
:TO_START TRANSMISSION
;WAIT FOR RECEIVER

s T0 FINISH

#10, TEMP2
MOV ¢1oboon,aonena
TSTB  aDHSCR

BMI 3%

INC TIMER ;UPDATE RECEIVER TIMER

INC TEMP1 sUPD"TE NO CLOCK TIMER

BNE c$

DEC TEMP2

BNE 2%

ng &S ;RECEIVER DID NOT FINISH, ERROR

CMP TIMER, TIMEL ; VERIFY THAT RECEIVER

BLO 4$ ;WAS FASTER AT THIS SELECTED SPEED
: (NUMBER OF COUNTS IN TIME2
:LESS THAN TIMEL)

HLT e ;RECEIVER TIMING ERROR FOR
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001346 001342
002100

5%:

MO4

SCOPEL

MoV TIME2, TIMEL
INC  RY

RDD #2100,R0
DEC Rl

8NE 1$

SCOPE ~

‘LINE 17
: CHECK FOR FREEZE ON CURRENT DATA
;SET UP FOR NEXT COMPARISION
tSELECT NEXT SPEED

.CHECK FOR ITERATIONS, LOOP
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:END _OF PASS

; TYPE_NAME OF TEST
sUPDATE_PASS COUNT

tCHECK FOR _EXIT TO ACT-11
sRESTART TEST

EOP: TYPE
MEPASS
001312 CLR LAST
001242 CLR ERRFLG
001240 INC PASCNT
001234 165146 MOV PASCNT, LIGHTS
000042 MOV au42, Rl
BEQ RESTRT
RESET
LOGICAL: JSR PC, (R1)
NOP
NOP
NOP
166534 RESTRT: JMP BEGIN

; CHECK FOR LOOP ON CURRENT TEST
s CHECK FOR ITERATION SUPPRESSION

0020C0 165114 SCOPER: gﬁg :gNlU,SNR
040000 165104 1S: - BIT ggﬂlH,SNR

BNE
004000 165074 BIT #SW11,SKR

BNE c$
001166 INC LPCNT
001162 001156 ggz EZCNT,ICOUNT
0011iSe cs: CLR LPCNT
001130 CLR ERRFLG
oo1132 E?g (SP) ,RETURN
001124 33: E?¥ RETURN, (SP)
001110 4S8 TST ERRFLG

BEQ 1%

BR 2%

; CHECK FOR FREEZE ON CURRENT DATA
001000 165014 SCOPIR: EIT O%NDQ,SNR

EQ l
00l102 MOV FREEZI, (SP)
18: RTI

; TYPE NAME OF TEST

;CLEAR LAST ERROR PC
sCLEAR_ERROR FLAG

:UPDATE PASS COUNT
:DISPLAY PASS COUNT
:CHECK FOR ACT-11 OR DOP
:IF NOT, CONTINUE TESTING
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avilbive T

- 2631
- ggg :ERROR HANDLER
2539 Q12564 032767 020000 184776 ERRORS: BIT #SW13, SWR
2628 013872 00108 BNE HAL TS
363 013574 Q021667 001116 CMP (SP),LAST
2637 012600 Q1404 8EQ 18

s€38 012602 Q11667 001110 MOV (SP),LAST
2635 0126806 00S067 001040 CLR ERRFLG
2640 012612 104406 18: SAVOSP

cb4] Q12614 011608 MOV (SP) RS
2642 012616 162705 000002 SUB %2, RS
Se43 012822 011s08 MOV (RE) R4
2t44 012624 006304 ASL RY

2645 012626 006 ASL RY

2648 012630 042704 177001 8IC 8177001 ,RY
2647 012634 062704 014506 ADD 8ERRTAB ' RY
2648 012640 012467 000034 MOV (R4)+, ERRMSG
2849 DI2844 011467 000042 MOV (R4),DATAZP
260 012650 00S767 000778 ST ERRFLG
2651 012684 001403 3EQ TYPMSG
2652 (1265 005767 000030 ST DATABP
253 012662 001007 BNE TYPORT
2655 212664 1044C2 TYPMSG: OCTASC

3655 01366e 012780 ERTABO

2636 012670 012767 0000CI 0OC7SH MOV 81, ERRFLG
2657 012676 104401 TYPE

288 013700 000000 ERRMSG: 0

2653 012702 00S?67 000004 TYPDAT: TST DATABP
2660 012706 001402 BEG RESREG
2661 012710 1044C2 0CTASC

266z 012712 000000 DATABP: 0

2663 012714 104407 RESREG: RESOS

2664 012716 005767 1B464S MALTS: TST SWR

2tEs 012722 10000S BPL EXITER
asEEE?E uia% gfse.::ucE 000002 :33““0 2(SP) RO
2668 31 732 000000 - HALT

28e9 012734 012600 POPRO

270 01273 005267 000714 . EXITER: INC ERRCNT
2671 012742 032767 002000 164620 BIT #5W10, SKR
2672 012750 001402 . BEQ 1§ .
2673 012782 016716 000704 MOV ESCAPE, (SP)
274 01278& 000002 18: RTI

ee7s 012760 0000Q! ERTABO: |

ce7E 01276 006 002 .BYTE 6.2

2677 012784 013710 SAVPC
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000002

000000

177001
J14426
000000

000004

000652
000654
000836
000630
000622

000614

: [RAP DISPATCH SERVICE

1 ARGUMENT OF TRAP IS EXTRACTED

+AND USED AS QFFSET TO OBTAIN POINTER

; TO SELECTED SUBROUTINE
TRPSRV: MOV (SP),=(SP)

SUB 2, (5p)
MOV 3(8P), (SP)
TRPOK: ASL SP)

i g
8IC 8177001, (SP?
ADD $TRPTA3, (SP)
MOV 3(SP), (8P)
IMP (5P

:GET PC OF RETURN

;=PC OF TRAP

:GET _TRP

sMULTIPLY TRAP ARG BY 2

EAR

;CL UNWANTED BITS

;POINTER TO SUBROUTINE ACDRESS
; SUBROUTINE RDORESS

:GO TO SUBROUTINE

:SAVE PC OF TEST THAT FAILED AND RC-3S

0006k2 SVOSP: MOV 4(SP),SAVPC

; SAVE RO-RS

Sv0S: MOV RS, SAVRS
MOV R4, SAVRY
MOV R3, SAVR
MOV R2, SAVR
MOV R1,S5AVRI
MOV RO, SAVRO

RTI
;RESTORE RO-RS

RSOS: MOV SAVRC,RO
MOV SAVR],Rl
MOV SAVRZ,Re
MOV SAVR3,R3
MOV SAVRY, RY
2?¥ SAVRS,RS
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cZEI 013130
g7a3 Q13N
2224 013136
27 013142
2726
e’e?
728
2729 Q13144
2730 013182
e’3l Q013156
2732 013180
2733 013162
er34 813155
2738 01317e
e’36 013176
er37 013200
e’38 013204
e’39 013210
e7+0 013214
e74l 013216
e74e 013224
e’43 013230
27 (013232
2745 013234
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0C0000
0CQ002
000468

0004sH
C00000
000002

014450
000007
000412
000406
000018

00370
000364

000C3s

000372

DOS

; TELETYPE QUTPUT ROUTINE

TYPER: MOV
ADD

1§: 1578

es: MOVB
B &

Ty
a?#csn
18

(RS)

2%

(RS)+,JTPDBR
1

;ASCII STRING INPUT ROUTINE

MOV
RDD
TYPE
o

INSTRG:
INSTRI:
MSG:

MO
18: TSTB

MOVB
2s: 1ST8

BPL

DEC

BNE
INSTRE: TYPE
MOM

ER
INSTR2: RTI

a(SP) MSG
82, (SP)

8 INBUF R4

7R3
|arkcsn

18
JTKDBR, (RY)
200, (RY)
(R4)+, 815
INST

3TKDSR, 3TPDBR
gIPCSR

R3
1% 1

INSTR!
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2%222223&2
S8RERNSrRERZE8

OO000000000
Do s Pt hs s e e s pe e
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;: CONVERT ASCII STRING TO OCTAL

§f1 - PARAMS : "03 SSP; %PE i
1528 Q85148 nv  (Re)e RN
012567 000142 MOV (RS)+, DEVADR
112567 000140 MOVB  (RS)+.LOBITS
112567 000135 MOVB  (RS)+ ADRCNT
010516 MOV RS, (SP)
005005 PARAM1: CLR RS
012704 014450 MOV $INBUF , R4
122714 000015 CMPB 815, (RY)
001420 BEQ PARERR
121427 000080 1§: &npa (RY), 860

15 T PARERR
121427 000067 CMPB  (RY), 467

12 BGT PAREAR
142714 000060 BICB  #60, (RY)
152405 BISB  (R4)+,RS
122714 000015 CMPB  #15, (R¥)
001406 BEQ LIntts
006308 ASL RS
006305 ASL RS
006305 ASL RS
J00760 BR 13
104404 PARERR: INSTER
000750 BR PARAM!

:TEST TO SEE IF NUMBER IS WITHIN LIMITS
020567 000042 LIMITS: CMP RS, HILIM
101373 BHI PARERR
020567 000032 SMP RS, LOLIM
103770 BLO PARERR
136705 000032 gga LOBITS,RS
001368 PARER
:STORE NUMBER AT SPECIFIED ADDRESS

016704 000022 MOV DEVADR, R4
010524 18: MOV RG, (R4} +
062705 000002 ADD 82 RS
105367 000013 DECB  ADRCNT
001372 BNE 18
000002 RTI
000000 LOLIM: O
000000 HILIM: O
000000 DEVADR: 0
000000

LOBITS: O
013431 ADRCNT=LOBITS+]
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